1. Match List I with List .

LIST1 (Process)
A. Moulting LIST 11 (Description)
B. Reeling Process of extracting silk from cocoons
Process of removing wool from the

C. Shearing body of an animal

L. Process of washing the raw sheared

D. Scouring Wool to get rid of greasc, dirt ang dust
@ la)'l'ﬂ\'t'ﬁ 13 R aﬁﬁ-m IV, Process of shedding outer layer
I
e s
o S I @rar & Yom P & afea
o et M. R et & ordit & 9 Sared ) whwa
ML 99, et ot g & g9 & % frg
FAX EY H T B €N B ulea
| D. wefor IV. aEd gta & sex & uiea
(A) Al B-l, C-II1, D-1V AB) A-1V, B-1, C-11, D-IlI
(C) A-ll, B-1L, C-1V, D-1I (D) A-L B-1IL, C-1V, D-11
(E)  Question not attempted / Saa WsT
2 Which of the following statements regarding asexual reproductive structures in Fungi and Simple plants is/

are TRUE?
I. Zoospores are flagellated motile spores produced inside a parent cell called zoosporangia.
2. Conidia are non-motile spores produced singly or in chains by constriction at the tip or laterally on
special hyphal branches called conidiophores.
3. Gemmules are endogenous bud that are simply a copy of parent nucleus with a small amount of
cytoplasm and a protective covering around.
Choose the correct answer from the options given below:
(A) 1and3only (B) 2and3only
(C) 1,2and3 (D) 3only
(E) Question not attempted
F9% 3T TTe drHi § sratE geE @res & 99y § frefatad dadl § § B a8 599 g 2 7
1. masmgﬁﬁéiﬁaﬁﬁm@ﬂﬁﬁ%mwﬁaamﬁmﬁmﬁﬁﬁil
2. aﬁh&mmmﬁétﬁrmawﬁ%w@ham%mﬁawmaémﬁm%

Fiffdrer Fme fas smarst § 79 )
3. ﬁqﬁmﬁﬁhtﬁ!wmaﬁuﬁﬁ?ﬁiﬁmﬁmqmﬁmmwémﬁﬁmﬁ
Ear &1
4 foro o Rt & @ @61 TE g
(A) Fad 133 (B) @ad 2 3T 3
(€) 1,233 (D) &ad 3
(E) orgaia 997
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1: v are two statements: one is labeled as Assertion A and the othe. - R.
x:‘:z';t?s:;\\iﬂhcn an artificial satellite moves f:mur_ul the earth in a;ircl:lhacrr(::bli;:t::ilte}?aazORn:?::tnspeed, its*
vélncitv is not constant hccal{se the direction of motion of the satellite i anging continuously.

Reaso;l R: The force of gravity of earth keeps the satcllltg in circular orby amunﬁ it

In the light of the above emm:mcnh._(;lru.r.r,«:: the correct answer from the Options giveﬁ below:

(A) Both A and R are true and R is the correct explanation of A
AB) Both A and R are true but R is not the correct explanation of A

(C) A istrue but Riis false

(D) A is false but R is true

(E)  Question not attempted - '

Ay 21 o fam T ¥ 0w wfmer A ?"TAW,WWI’SWT?TWQ.

mmA:maﬁé?ﬁaﬂmqvﬂmwmwmmqmwg%m%ﬁ arn Reere T

gran s Iuws A Afa By Ben wET am= Ll

#7eo1 R: &t &1 oAU A6 ITUF BT AT A AT AT F40E Ty 3

IUNFd HU B A ¥ T@d gu A B o femet o ® w5 0 5 g

(A) AMTRIA TG & AT R, AD wh =z ¥

(B) A 3T RE g7 & afFA R, A %1 @ zamean 7 3

(C) AT"EARBT RITT

(D) A¥Ea? afsT Raa

(E) orgafa 997

4 Which of the following statement(s) about the artificial sweetening agents is/are TRUE?
1. Ortho-sulphobenzimide is the first popular artificial sweetening 200n
2. Ortho-sulphobenzimide is also called as saccharin. o
3. Ortho-sulphobenzimide is about 100 times as sweet as cane sugar.
Choose the correct answer from the options given below:
(A) 1lonly (B) 2and3only (C) 1and3onh (D)
(E)  Question not attempted

M Ty % F=v A Frafafaa ¥ § B /@ sm e b
1. ST -GeHETaaIEs TEe wafad S1EE 997 ¥
2. HG-GEHIETAES B A 9 BET AT 2
3. iel-wehETRETEs, T B A & s 100 T e e
g R g fameat § & wd 3 ghmo
(A) FHaa 1 (B) Fa@233 . (C) Ha= 1373 (D) Faw | a2
(E) oraia wea

5 Which of the following statements about the types of soaps is are TRUE?

1. Transparent soaps are made by dissolving the soap in ethanol and then evaporating the excess
solvent. '

2. Shaving soaps contain fillers like sodium rosinate, sodium silicate, borax and sodium carbonate. -

3. Soap chips are made by running a thin sheet of meled soap onto a cool cylinder and scraping off the -
soaps in small broken pieces.

Choose the correct answer from the options given below:

(A) 1and2 only (B) 2only (C) land3onh (D) 2and3only
(E)  Question not attempted

HIYT & W& & G § Prffaa ¥ § A sd s g b E? o .
. 399Ta ¥ W9 &1 diwast ol Rev srffies Rreras & aied 53 TE 8199 9900 0 ¥ | .
2. it % wig ¥ wifsaw Afrre, Wifvaw fifvdse, S ol T FEEE S T Oy
3. WIgA & foe R gu A A us vae s @ o faee w Tt 3w B BB gwey i
ot ST |
IqaT :
(A) é;qalmz (B) a,g—euﬁaq: (©) ¥Fawlsity (D) FW233
(E)  srgafia wew
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& choose the correct option in eontext of Haryana:

Colum
1. Khoria " Column 11
2. Manjira (a) tourist complex
3. Surkhab (b) sweeet dish
4. Churma (¢) danee form
(d) musical instrument

Choose the correct option -

A 1-a, 2-b, 3-c, 4-
(A) -, : C:4d (B)* 1< 24d.3a4b (©) Ib, 2¢,3d.4a (D >
(E) Question not attempted ’ (D) 1-d. 2-a, 3-b, 4¢

quamllﬁﬁmﬁqavﬁ%mmmmtdﬂﬁmﬁ:

. 2 St
b u’lﬁ'«:n (a) wdews uftey
2. w9 (b) frard
3. g™ (c) T &1 W@
4. (d) &g am
w8 fyeg & g - »
(A) 1-a,2-b,3<.4d (B) 1=, 2-d,3-a.4b (C) 1-b2x, 3-d,4-a (D) I-d,2-a 3-b .4
(E) orafta 9sq (\J
7 Given below is a list of districts along with other district’s touching its boundaries :
1. Jind : Hisar, Kaithal, Panipat . Kamal

2. Rohtak : Jind, Charkhi dadri, Hisar, Rewari

3. Rewari : Mahendergarh, Gurugram, Nuh, .lha_ija}

4. Hisar : Bhiwani, Rohtak, Sirsa, Fatchabad '~
Which of the above is/are correctly matched : ! i i
(A) Onlyl,2and3 (B) Only2, 3and4 (C) Only2and4 (D) Only 1 and3
(E) Question not attempted R
S forr vt o et i gat el 21 A @ g ¥

1. fa= . femre, Fgw, 9Ed, BT

s qgam =, v i, @, feaw, @ :

3. @E  : "EEme, THUW, e, 5O

4. feare : fwarh, TEas, fmTE, FAETATE

SqiEa B @ e Ei £ 7
(A) ®a@ 1,283 (B)

(E) raid 3¢
P.T.O.
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Match List I with f.ist 11,

8 LISTH LIST 11
(Chemical Compounds) (Usage
A. Norethindrone i Cationic dm,q,m
B. Alitame Il Amif.:n.h,‘.: drug
C. Cetyltrimethylammonium Bromide ML Artificia) Swecten
‘ --ener
. Phenelzine v A"”"’ew-;:.-,,n., -
(A)  A-IIL BT, C-IV, D-I (B) AL B Cr o
(C) AL B-IV, C-I1, D=1l (D) AV, By, o,
(E) Question not attempted
g | %1 A 11 A R Hifr
T 0
(rrarats W) o
& d L s .
B' n 1%?3:? b } --4
C. afmmfrmmety 3 SlES m. »fm e
D. wAeA

(A)  A-IIL B-I1, C-IV, D-1 (B) A-ILBm.cqp

(C)  A-L, B-1V, C-IL, D-lil (D)  A-IV.B-lL c-i. iy
(E)  orgafed usw
9 Which of the following statements about the Parasite is/are TRUE”
1. Dodder is a plant parasite, which has special sucking roots called Yaustoria for absorption of food
from the host plant.

2. Dodderis a vine-like parasitic plant and is essentially lealess.
3. Many species of Dodder cause weed problems in the horticu' ure incustr:.
4.

Once the Dodder plant gets.attached itself to the host pl

Choose the correct answer from the options given below:
(A) 2and4only

(B) 3 and 4cnh
(&) 1,3 and 4 only (D) 1.2.3ands
(E)  Question not attempted

TR & ot Freafortas 3 § B 9 wuw w22

1. ﬁa@mmtﬁtﬁmmﬁm% FA B
TE T ¥

ANt L oses S ToOL system.

T T A fadre g |

2, WW%MWW%WWN%R&W?@%:
3. SIS wE weinai Sam pi (i) THm ¥ wrEr @ e w e d |
4. SIS dren ordrh G ¥ F g ovd s g @ 3 d

e fe e § @ wh v g

(A)  Faw 2 st 4 (B) %= 334

(C) &aw 1,3 a4 (D) 1,234

(E)  srfafa we
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11

Matqh the following:
(1) Yukti-Yogya Kalakriti ki Takneck

(i) SAKSHAM

(iii) Ishan Uday
(iv) Pragati

Choose the correct option :
(A)  ()-(a). (ii)(b). (iii)~(c). (iv)«(d)
(C)  ()-(c), (i)-(d). (iii)-(b). (iv)<a)
(E) Question not attempted
Pretferfad 1 e Hf.

(i) FE-ara FEH B T S

(i) T&H

(iii) 9T ITT

(iv) s
aﬁﬁmgﬁ-&:
(A) (i)-(a)-(ii)-(bi.(iii)-(c).(i\)-(dl
(€)  (i)Hc). (id). (iii(b). (iv)<2)

(E) &gaid 9es

(a)

(b)

(C)
(d)

(B)
(D)

(a)

(b)

(c)
(d)

(B)
(D)

Match List I with List Il and choose the correct option :

List I

1
2.
3. Nali
4
5

. Bangar
(A) 1-a,2-b,3-c, 4-€. 5-d
(C) 1-a,2-b, 3=, 4-d, 5=<
(E)  Question not attempted
g 1 d g1 11 &1 faer &2 g

TFETE

(A) .I-a, 2-b, 3-c, 4-e, 5-d
(C) l-a 2-b, 3-c, 4-d, 5-¢

(E) orgaia 997

1421_A

co o

€.
(B)
(D)

af! fae™ & 9gq ot

a0 o

(B
(D)

of AICTE, aimed at providing
for advancement of Si.i‘!s
sarticipation in technical cduzalmn.
!/\ims at skill d‘cvcl.npn‘ler(lii anl '
upgrndminn of design an technologies
enhancing the ?cnnon.u.c prospects of
those cngagcd in tr_adlllonal crafts and artg
as @ means of livelihood. .

heme for differently abled perg,,

Scholarship sehet!
Special «cholarship scheme for students

of north-east region

). (ii-(d), (iv)-(a)
). (iii)-(b). (iv)-(¢)

A schem¢
assistance

(i)(b). (iDAc
()4d). (i@

wﬁﬁmﬁaﬁﬁaﬁmﬁgﬁﬁ
Wmmﬂgmcmaﬁm
sﬁaaﬁﬂiz%gwmamwﬂfr&é
g;%ahﬁﬁanﬂimwﬁm%gmﬁg
maﬂ-{aﬁﬁaﬁaﬁgarﬁmﬁaﬁ

s oI P BT B AT

frarm W &g BIAGHA AT
@m&a%mﬁ%%ﬁﬁﬁwmﬁm

(i)-(b), (iD)-(c). (iii)(d), (iv)-(a)
(i)-(d). (i)@). (iii)-(b), (iV)-(¢)

List IT
Parts of Hisar, Bhiwani and Sirsa

Flood plains of Markanda
Flood plains of Ghaggar
Flood plains of Yamuna
Old alluvial plains

1-b, 2-a, 3¢, 4-d, 5-¢

1-b, 2-d, 3-e, 4-a, 5-C

gA

ferare, ferarit vd farcar & wm
wavel % G & AT

UT & €16 % AaTH
T % q1E & HE

YT &I AT

I-b, 2-a, 3-¢c, 4-d, 5-¢

I-b, 2-d, 3-¢, 4-a, S-¢

PuTcO'
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neﬂ" i puil!
" . w d‘cn s P C‘amplc ncC
ar f prlﬂ
2 Lady ed VY the ¢ ’ B only =
3 [t was outy
) 2 () =
A onty ! and
© nly and ? od i o
(stion " atiem?! . At e i # 1 T
(E) GWT ¥ AT El &
™ ﬁ{gmﬁﬂg 5 g T
! 1591 el A ¥
5 T b T w1 0P 27 R
> 35 7 ,ﬂgﬁfﬁgﬂfﬂ”ﬁ“ -
3. ﬂ‘ifn' , (B) g 2 PO
o) ! o> 2
© ¥ad | a3
(E) gt a9
3 M tch the following 33 per populaf peliefs
. City of five canals (a) Kaithal
5. City named after wife of Neem singh (®) Pamlhkai'a
3. City in Arabic meaning Fort «©) Bhiw;m
4. City named after a place of monkeys (d) Hisar
Choos€ the correct option :
A) 18 2-b, 3-¢, 4-d (B)” 1-b, 2-¢. 3-d, 4-a (© 1-c. 24 1+ (D) 1-d, 2-a. 3-b, 4-€
(E) Question not attempted
ettt @1 ST gl B I fyTe BITAC:
i y o (@) Fud
2. Amfts B qe
- 3 & e B A "N -
. gree A ST ST ¥ fapet
4. €gq % (<) ﬁrqﬂ"a
- o % AW | TE D E L @ f
1\ a1 T &
(A) l-a 2
,2-b, 3-¢, 4d
> (B) 1-b, 2-¢ 3-d. 4 ~
(£) Tands a (O I 2.d, 3-a,4-b
Tt Wl (D) 1-d.2-a,3-b, 4-c
P'T°0.



14 National Instj
ns = ' o H
stitute of Fash iated with which of the following?

: Proj . aShion Te (NIET) is assoc d
3 Crojelit India Size Technology (NIFT) 1s ass VISION XT

Which i “ CHAMPIONS Portal
(A)lc ]O:!::;ezoop;;?ns given aboye are correct? ) 3 onl (D) 2.3and4
' - ;] ? i
ST ST o S (i) P A @ P wlfr ¥
. CopE 2 faw XT
B"T!%ﬁﬁﬁéoﬁmm X 1 CHAMPIONS 9w ~
AR X7 |

(A) &aw 1 afiT 2 . Tet3 (D) ¥AW2,3
(E) At it (B)  &aw 283 (C) a1 ( o4

15 Pradhan Mantri Jan Ays
. ushadhi Yoi MIAY) has been renamed as: i

l]%. l;ragha" Mantri .-\usha(éllrinl’(:r‘i\ﬁw-i:a) 3 pradhan Mantri Janaushadhi Vikas Yojna
3 P:2d2a11 Mantri Bhartiya Janaushadhi Pariyojana.

Which of an Mantri Bhartiva Aushadhi Vikas Yojna.
ich of the options given above is correct?

(A) 1only - (B) 2only

(C) 3only Dy 4 only

(E) Queslion not attempted

mﬁmmm(mum)ﬂwmt: T
1. wure wsit affy aftdss 2. W wsh SNty e

3. UM A dE weefy g 4. wur s vl shefy fer At B
T Rl Rreedl & & @i e wh £7 =
(A) &aw 1| (B) ¥a@2 (C) a3 (D) %aw 4

(E) oraRa usa

16  Which of the following is/are not true regarding the Pradhan Mantri Shram Yogi Maan-Dhan Yojana (PM-

SYM) to ensure old age protection for unorganized workers?
1. Each subscriber shall receive minimum assured pension of Rs. 2,000 per month after attai

age of 55 years.
2. Each subscriber shall receive minimum assured pension of Rs. 3,000 per month after attaining'the

age of 60 years. o
3. During the receipt of pension, if the subscriber dies, the dependent members of the beneficia

shall be entitled to receive S0 percent of the pension received by beneficiary, as family pension.
4. The subscriber’s contribution to PM-SYM is through auto-debit facility from his/her saving bank
account/Jan Dhan Account and it ranges from Rs. 50 to 500 per month depending upon the entry

age of the subscriber. :
Which of the options given above is/are not correct? =
(A) 1,2and3 only (B) 2.3and4only (C) 1,3and4only (D) 1and3only ot

(E)  Question not attempted .
i BT @ gETEEn @ GUE g B % frd wur d gl A dre & g A
fptoiaa § & @m-a8 g T8 2 7 N
1. m«:wmmwuﬁssﬁﬁa@{ﬁﬁtmmz,ooov.uﬁmgﬁﬁuﬁﬁmﬁﬁmﬂ
2. wAE SmEATaTE & 60 96 @1 g g 619 & €17 gaan 3,000 &, Wiy = ghiyea Ser frem)
3. AT ATA TS A GEEEETETE 1 afE (U £ S & o et & onfia vy #y, mel @ e
T8 Y9 &1 S0 wiasa Gianie 49 & &9 § e
4. @tz dnTEE @1 TE i T 99d @A SuE S @ @ @ o -geeEry @ F o
Hﬁiﬁr?ﬁ,vﬁwarﬁmmﬁaém%wangiimwSozmﬁﬂzoommaﬁs’r
|
IO faepeqt § § @19 |1 fawea af 7 7 7
(A) ®ga 1,233 (B) #aw@m2. 3374 (C) &ad 1,334 (D) &aw | o3
(E) rgafia 9979
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Match List | with List I and choase the carrect option
atch I

List |
a. Gujri mahal
b. Seikh Chilli’s tomb
¢. Choron ki Baoli
d. Jal Mahal
(A) a-1.b-2.c-3.d-4
(C) a-3.b-1.c-4.d-2
(E)  Question not attempted

gt [ &1 gAY 118 fram ¢ qor @h faser w1 7= 57

Thi
a. q?rﬁ &
b. 9@ faselt #1 gHAT
c. A @ FTaS
d. T 9ES
(A) a-1,b-2.¢c-3.d-4

2(C) a-3.b-1.c-4,d-2

(E) orgafta uee

List I1
| Kuruk ;hm”
E \’hhc"dmtlrh
3 Hisar
1 Rohtak
(B) a2 b3 4 .
(D) a4 b - P
=
I. € L]
2. wEzT3
3. fEmrr
1. TETS
(B) a2 53 .4 &
(D) a<d. b .0 s

18  Given below are the administrative Divisions of Haryana along »th he fistrcrs + includes
Administrative division Districts included
a. Hisar Hisar, Fatehabad. Jin¢. 3hrwan, Sira
b. Rohtak Jhajjar, Sonipat, Bhiwan:. Charka: Dadri. Rohtak
¢. Karmal Panipat, Karnal, Kurukshetra, Kaithal
d.  Ambala Ambala, Kuruksherra, Panchkula, ¥ amunanagar
Which of the above Administrative Div ISIons are correctly matched”
(A) aandbonly (B) band.:onh
(C) candd only (D) banddoni
(E)  Question not attempted
Eﬁmm%uamﬁﬁmmﬁﬁmﬁqhéﬁ&&v&%r
WITAE s e
b. Jea® T, §HE, s T =T Txas
i c. HEW YA, FTAW, FEE. Huw
| d.  araTen HATHT, FHHS. TP, AT
T B A waaPs W @ R wd b 2
(A)  %Faw aasdx b (B) ¥Faw baiw .
(©) ®HeEmcalr g (D) FEW b d
(E)  srfafta we
421 4

P.T.O



19
Match the following-

(i) SA
% R’
(ii) Dn(g}}{i:Q
Gii) P (;) Developed to aid Divyang students
RA (b) Project appraisal budgeting achi -
( BANDH & Date handling system ng:;'."c\/qncm
v) (¢) Students and Teachers Holisti
TALKING BOOKS Advancement through qua;;;CC(lllcati(
Choose the cor (d) e-learning expanded through digital Y
BRI it o e
(E) (1)-(e), (ii)-(d), (iii):((cb:' (1v)<(d) B) (Db, (i-(e), (i), (V=)
1::‘13'1.%11%‘%'3stlon not attempted (iv)«(a) (D) (). (i) (iD(b): (iv)-(c)
| 1 R B, e
() wrefs X
(i) e (a) Rt Ryenfiral & gergal & ﬁl’ﬁwhmfaa
(b) R TEHT, qoTe JUreE ST 32
e (©) Wamtmméﬁuﬁﬁm
@ 2T Rrerl & T gt
p - Db () vy srafic & R e ST
e & e | &gt @ faart
& freea gia:
(A) (i)a). (i)-(b), (iii)-(c). (iv)H(d) @) (D)D) (ii)-(c), (iiD-(d): (iv)-(a)
AC) (D). (D). GIDA®), (iv»(:))"" ©) (), i) GiD-0) (iv)-(©)
(E) Rl %
50  PM SHRI Schools have the foll wing features: - ; -
" It is :ocsenu:fly _:p:u;." ”.ul;_ gir‘:lhm"nozl:l than 15220 P(s,cl:ll;;ol will be qualitatively
v Such schmlst:llll;ﬂc devels as Green Schools incorporating environment friendly aspect.
3' PM SHRI Schools will be developed ,,m;menms istin _schools from amongst schools
. by = H“ pa-+ 2t - i vt ’ .< e school from amongst schools

|||||||||||



‘ ruitment scheme for youth to Serve in the following
. me is a recrul Almhe. . . he to

Agnipath qfc(:f./\gniveerq", the youth selected under the scheme » forces, Which of t

holds ""c/\gniveef“ will be given an attractive customi
g allowances as applicable in the three sery Ises.

21

zed monthj, Package alongwith risk & hardship

2. On Cnmplc.ﬁnn of their engagement period of five years, they w,), be paid one time non contributory
Seva Nidhi Package.
3 Seva Nidhi Package is exempt from income ra‘x. '
;;‘ Agniveers will be prnvi(!erl non cnnrrlbmnry Life [”’\'lrnnr,g: Con Rs 24 lakh for theif duration
. of their engagement period in the Indian Armed Forees 5 2
Which of the statements given above is/are correct”
(A) land2only (B) i’. and J oy, y
AC) 1and3only (D) 3and Lon,

(E) Question not attempted _ N )

mumamﬁﬂﬁmﬁﬁwmgwgnmtm% ‘ ‘

“aftdTT % for Preafofae & & 2y & Fo 5 ¥ 0 s=ra Fat Taga
ST 1 A et A e e e B g

’ S £ m&mm'
;, uhwﬁaaﬁxqﬂﬁ%w,ﬁﬁgﬁh-mnﬁmwmm |
3. ban Bl 8w st & g B ;
4. Wﬂﬁ#ﬂ?ﬁﬂﬂ?ﬁﬁﬁﬁh’{fﬁ’ﬁmi%; Liwy o ATl Aras AT
e g s '
SYNF B H VBT Y Fo why ¥ 7
(A) FHaa a2 (B)  Fam 4,
(C) & 133 (D) == 4,
(E) o afia gea

22 Electronic Voting Machine (EVMs) and Voter Verifiable Paper 3 .;:
Election Commission of, India to conduct Election

s to the Par!iamemar_. & Assembhv Constituencies. Now
consider the following statements - , ’
1. EVMs were first used on pilot basis in Thrissur Assemboh, Constituency of Kerala,
2. EVMs are manufactured by Electronics Corporation »f ndia Limited and Bharat Electronics
Limited.

3. VVPATs were used first in by-elections for Khonsa Assembhy Constitueney of Arunachal Pradesh.
4. VVPAT is an additiona] unit attached to the EVM, which orings 2 slip of paper that carries only the
serial number and symbol of the candidate voted.

(A) land? only (B) 3ands onlv
(C) 1,3and4 only 1,2
(E)  Question not attempted

mmmmmmﬁ%wam%wmtsws)mm

- "‘mmv_vmmmmwm,
| 4. VVPATqmaﬁrﬁaamthvxl%m 1 23 0 & P g

\ o = mmmfﬁqmmsﬁaﬁm
9 g o Rz d
Wﬁﬂm%ﬁﬁéﬁa—éa&wuﬁwﬁ??
(A)  &aw | a2 - (B) %33 a4
(©) Fam 1,3 s 4 _ (D) Faw 1,234
. (L) LER
1421 4 11 P.T.O.
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23 Match the followin

. g sche .

(i) Khet Khalj pp:- e~ 0inas of Gov t of Harya
. ali Phj o JRERIE Government & 75 livectock owners risk free
(ii)  Mera Pan T Bhi Khushali @ To make livestock ©

I Meri Virasar (b To make farmers free from risk at the
ime of a fall in the prices of fruits,

. \rcgctablcs

To encourage farm
paddy to alternative less water intensive

na:

(iii) Bhavantar Bharp ers to diversify from

ai Yojna (c)

(iv)  Pandit Deendav Cj‘OP : if
val Upadhayay (d) Farmers get benefit even if the land
Pashudhan Suraksha Yojna - where paddy is grown is kept fallow.
o 1 Prefirfien wim et @1 R P -
() & e R o aeh (@) vy & s T
(i) =0 U S g (b) M,maﬁmﬁﬁﬁmﬂ%
_ aa et @ SfEd { g BT
(i) HEE WU i ©) mﬁm}mﬁmqﬁaﬁﬁm?@ﬁ
¥ forepedl & ST ST BT
(iv) Red S s ggem (d) it e & et onf ST o T
: - & aren gy ol Rt @ @ BT
Choose the correct option from the following options :
Prfafea faee & 9 w@ faws g
(A)  ()a). (i)b). (iii)~(c). (iv)«(d) (B)  (i)-(b). (i)-(c), (iii)-(d), (iv)~(a)
L (C) (D). (iD)(c). (iiD)(b). (iv)-(a) (D) (i)d), (ii)-(a), (iii-(b): (iv)-(c)

(E) Question not attempted / \'ﬁjﬁﬂ'ﬁ LS

24  Mukhyamantri Muft llaj Yojna. in Haryana includes the following services:
1 Surgeries, laboratory tests. diagnostic (X-Ray, ECG, ultrasound) only.
2. OPD/IPD. Medicines, Referal transport. dental treatment only.
3. OPD/IPD. diagnostics. laboratory tests. surgeries only.
4. Dental treatment, Referral transport, Medicines. OPD/IPD, Surgeries, Laboratory tests, Diagnostics
(X-Ray. ECG, ultrasound) only.
Which of the above statements is/are correct?

(A) 1 only
.« (C) 3only
(E) Question not attempted
gﬁmﬂnﬁgmirgwmmﬁﬁﬁfﬁf@ﬁaﬁaﬁqﬁat:
| aqw weth, wErh O, ErgrITEad (X-Ray, 366, dezm@RE<)

(B). 2only
(D) 4only

1 Zierdis, %o fafeT
5 #a@ OPD/IPD, T 5T T, B
5. #am OPD/IPD, _ 15"”“‘" o, Jl
4 am a fafEE, T Zrenirs, ATz, OPD/IPD, @, Frdizfl e, Trariifiead (X-Ray, T,
<) .
o e :' (B) @aw 2
o Wa‘a“ 3 (D) @aw 4
(B) orgaied A

12
1421_A P.T.O.



rthe following statements regarding FASTER:

25 ('0';*“|C It was launched in 2021 by the Supreme (A”'_'n‘
' as created for transmission of e-authenticated copig, (| hterim

2. (I:n\l:rs to the concerned court/tribunals for due complian., Judgements/final orders/int€
It aimed at cutting the delay in transmission of the order,  PAsse 1 delay

> mﬂt'hc release of the undertrial persons. accused person 34 o 7 the court and consequent

4. It stands for Fast and Safe Transmission of Electronic Record. ety

Which of the options given above is/are incorrect ”

(A) land2 only (B) 2and; ol
() 3 and 4 only (D) 1 and i miy
(E) Question not attempted

Rrerferftaa HorAT 9T FASTER & afrizr o faamr %7

|, 38 garem =IrEed &0 2021 | Ar e wan

2. BpOer e % faet / st am2en / wAfry gy o e Lk
| Frgrert @t SAare g aft w7 F o B

3. wﬁqsnwmmwﬁwwytwn*ﬂm?;PMwﬁmam
et # Frerd & 290 ah 20 O B B3 9 47
TE G2 U3 % ZaeH A FAFZI0TH IBTE F o Sy 5 5

mﬁ!ﬁ‘aﬂ Rrepeal & q P17 fameg g 41 ¥ 7
(A) Haw | 32 (B) Fa7 24
(C) Had 334 (D) Fa= ) 77,
(E) \ﬂjﬂﬁa PES)

26 Consider the following statements:

I. . Loan Guarantee Scheme for Covid affected sectors (LGSCAS) wies 4 ¢ »rpus of Rs. 2,000 crore
was launched in 2021 for providing credit guarantee co verage o lending institutes for loans to
projects under health care sector.

2. The seheme provides credit guarantee of 50 percent to all zreenfiel ¢ srojects and 73 percent to all
brownfield projects to be set up at the centres other than metrono! itan cities.

3. For aspirational districts, the guarantee cover will be 30 percent for soth 3;3“nﬁcld expansion &
greenfield projects.

4. For aspirational districts the guarantee cover will be ~ 3 percent for both brownfield expansion &
greenfield pl’O_]CCIS

Which of the statements given above is/are correct?

(A) land2only (B) 2and3onh
(C) 3 and4only (D) 1and<onh
(E)  Question not attnmpt:.d

rafafeaa faumi o e e

L. oifes yifed &=t % T or e Qe (LGSCAS) 2021 3 2,000 577 598 5 219 % 619 w@reeg
Wéﬁ%ﬂqﬂmﬁmaﬁ%m“ﬁaﬁmmﬂw 2 999 B4 0 91E @ T2 oy

2. TE IS HEFTTY ST 3 STTAT 310 $a 9T e F1 T T S A (6 qRaead
& fore 75 wfasr aft et Mo afcdismnai ¥ e 50 wem 31 5752 0 I ST B

3. omwiEl fae & e, srodes et oft dedee wiEEET 39 B T IR FET 50 ghyer
B

4. omieh et % fig, aroies e ol e s T F T T AT 75 wfere
B

SN BN N F B wu g ¥ 2
(A)  &ae | aix 2 (B) Fawm 233
(C) % 3 ol 4 (D) %aw | 34
(E)  srafta wew
1421 4 ' 03 P.T.O.



27 i
Consider the follow;
n
1. Statistics da

g StatEments.
Yy iS cel ’
. . ebrated eVery '\'eﬂr on 20“’1 Jul.\-.

st
(A) land2 only alements js/ are false?

< 2 only B 2 and 3 only
_(E) Question not attempteq (D) 3only
Fr=rfefias . e

FEA T Rramt g -

1.
“aﬁzgwaﬁmﬁwﬂmmtl

2. W‘ﬁ
3. mﬁwgﬁ%mm‘ﬁwvmzooﬁahnim . |
U Bt & SRR r qUEE o e o aredy @ & @ 8 2012=100 ¥
e 3 2 2 T e v B

) aﬁﬁalmz (B) ¥aw 233
&) . (D) %aw 3
(E) oaia wss

28 Match the following schemes/portal of the Government of Haryana :

To free farmers from the
risk of weather uncertainties

(ii)) Uttam Seed Portal (b) Canals .
(iii) Mukhyamantri Bagwani Bima Yojna (c) To prevent arbitrariness of seed sellers.

(iv) Real Time Data Acquisition System (d) Allow farmers to sell their crops and
provide financial assistance for

fertilizers, seeds, loans and agricultural
equipment from their homes.

(i) Meri Fasal, Mera Byora Portal (a)

£ @R @ Frefeted dreraii/drée &1 firem B -
) ﬁﬁm,ﬁvm@éﬁ (a) vraw @ sififear & Ffew |
fpaml &t g 1@
(i) e dres I (b) &
(iii) i &1 Ao (c) s Pl 2 7 U %
(i) mz,gqurqaahﬁhsﬁﬁmﬂ (d) Poarl B T oY & ST wEw @ AT
¥ fory airr 3T, €91, HoT OF P ITHTT
% ford fad seraar wa™ &
the correct option from :he‘f(-)llowmg options given below :
Choosé€ A «hl gfa‘d ;
_ | a o ey, (iv)Hd) (B)  (i)4b), (ii)-(c), (iii iv)-
(ii)-(b), (A (ivH : ), (iii)(d), (iv)(a)
(A) (I)'(a) (")_(d), (lll)’(a) (]V)‘(b) < (D) (1)«(d), (ii)-(c), (iii)<(a), (iv)-(b)

©) ()-(c)- g AT 9

Question not attempte

® 1 ; P.T.0-
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129 Consider the following statement

1. lo reduce preventable mortality a
2. ALl pregnant women and
entitled to free services, o
3 lo provide chil(l-friendly service
environment.
4. It is an intensified pro

infant & young child
Which of the options given aho

(A) 1 and 2 only (B) 2and3 only

(E)  Question not attempted 7
qep TEA 8 wEfia ﬁ"ﬂ%‘f@a 77 i
I 127 & 9 39 % Tt 41

sregarding the MusQan nitj
nd morbidity of childrey,

sick infants upto 1 year below

ugs and consumables as

5 to the new hqr

ramme to bring undilut
eeding practices.
ve is/are eorrect?

(C)

ﬂlch
f a 12 years of age. e
ell 3 .';"und"‘g public health facilities ar¢
Ca Magnosy /i
na : Cs services. .
. "ldren in a humane & supportive

ed ffr(,u, r
" Promotion of breast feeding and other

I and } only

(D) 3 and4only

2. kb e SR § e mbh afsent o o0 72 5T

2 I
. 3 :¥ T f Y . -
FA T ST R, Aifrn g serms 7 T Pyt % ferd g ST,
3. HEEE AT EE AT & e forgg AT T 5 1 o,
4. T HTIH B R ORI Aol 5 ot A T w4, 7T B  SePore e 3
WA B 7T T5TT | ' AT AT
U frameat & @ B 4 Ty =k ¥ 7 _
(A) wae | a2 (B) FHa=r 23073 (C) 3= 4 D) ¥am3alt4
(E) arafta usd o
30 Match the Followiqg:
(i) Sowa-ngpa (a)  Fusion of Tidimonal know ledge of
oGt slization e Egypt, Arabia,
y ‘ Inda. rn_ Caung & Suria.
(ii) Siddha (b)  Heains 5,5, *-requisite for achieving
the zoals 5 Jie ¢ Dharma, Artha,
. ' Kama an¢ Moksha,
(iii) Unani (€)  System s evolved sased on 96 tools or
Principlesi Thathunas ) which include physical,
phy MOICZC. psvehclogical and intellectual
g © ASPECTS of every yuman bemng.
(1v) Ayurveda (d) The hasic

Choose the correct option from the f

ollowing options :
(A)  (i)-(a), (iD)-(b), (iii)-(c), (iv)-(d) (B)
< (C)  (i)-(c), (ii)-(d), (iii)-(a). (iv)-(b) (D)
E)  Question not attempted
& .
(i) " rar-foq (a)
(i) s (b)
(iii) gAY (©)
(iv) amgdy (d)
Pretforfiae freeat & & wét fames o -
(A)  (i)-(a), (ii)-(b), (iii)-(c), (iv)-(d) (B)
(©)  (i)(e), (iD-(d), (iii)-(a), (ivH(b) (D)
E

(E)  orafa wew
1421 4

heory s sxplaned in terms of the
body & the mind s the locus of treatment;

anti cote: method of rzatment through antidote:
medicines that cure the disease: pharmacology.

(DHDL e, (i) (iv +a)

(D) (e () (iv +b)

W A F T {1 F1 wien )
e 9 7S F 09, 99, aW o My
B T T WS §E TEA) AW T
AP 5 96 TIETN T ReEEl T ATenfa
T e 59 T 3 S, Reares,
s S A awq At ¥
griry it e 39 B 6 fag ¥ adete
Y T, TS B A T BT LT,
< 1 e ST a0 A shrafira e
st fagre 7 gt ¥

[ i), (ii(d), (iv)-(a)
t:ag))‘ t::):(t) (iii)~(a), (iv)-(b)

P.T.O.




RN
hich
ofthe f
ol :
are TRUES lowmg Staten, . . .
ents with reference to uniform linear motion and uniform circular motjq,, "

(e ln a Uniform “ne

circular motio
CO]‘ItinuOuS]y.
:hn 3 uﬂiform Iine
€ veloci
31 Aunif(,n:lnl’i;em
Cho tl;:otion_
ose (< corr
Eé; ? Ra S 0:;:; e from the options given b(ell;;wz =
only only
(E)  Question not attempted (D) land3only
THEAT
. %Fawﬂﬁraﬁrqa;m!mqﬁrtﬂﬁﬁ'ﬁaﬁﬁnﬂ'émhm/ﬁmmm
1. e e iy & e Ry Rery e 3 6 0 @ R ¥ ge & e QRO g M ¥ frs
2 wﬁmmwtm“ﬁﬂmmmuﬁh
y ; e fy F A & qeprferes TRad e & AR TG g TR A T G TEw
3. umHEA e i um i iy & A e g A @t 1 T E | ,

ar . . E ;
e Motion, 5 body moves in the same direction with a constant speed but in Unifory,
* ™1€ Speed of the body remains constant and the direction of the motion Chﬂl‘lgu

2.
ar mog; i : e :
Motion, there is instantaneous change in velocity but in uniform circular mog,

earams the same.
Motion is an accelerated motion buta uniform circular motion is not an accelerayey

i g g et ¥ @ w8 et gh

(E) orgaita 99 b ‘
i, A
ﬂﬁnﬂyﬁﬂing objects is/are FALSE? ’

32 Which of the following statement(s) E.
Freely falling objects are the objects falling from a heig_ht/ towards the earth under gravitational

1%
force of the earth. o =,—.1 - »
2 The acceleration of a body falling freely towards AEBnthe of the bo
3. Ifan object is dropped freely from a ht,its initial velocity ‘u’ is zero and if an object is thrown
vertically upwards, its final ve :
Choose the correct answer from the of

1 and 3 only

» (A)




e

-1
t -1 with List
Match Lis

List - If
33 List - 1 (Schedule) . [;,‘e “meﬂ:ml i WSubject)
l. First | b Oath = Mion territory
2. Seconc e .o
3. Third (:1 :r:r::;::;l ':“' _ <13 1 the R'\J\a Sabha
4. Fourth ’ . ,P "M anq ( ontro) of
€ ;::ji:r'.nd:r ¥ ind Scheduled Tribes
5. Fifth ’ Presid the emol, uments of the
sident, lld,[n nd mptroller al"ld
Auditor Gener,) i Ind ,,‘ P
Choose the correct answer from the options given h‘g”“ ll b
(A) 1-a.2-b,3-c,4-d, 5-¢ :[)) ':C.--;. L .
(C) 1-a,2-e,3-b,4-c, 5-d ! TR L s,
(E) Question not attempted
, g - 131 G - 11 & e #ifor - o
| T - 1 () S
i’ : g a. I 3?"7 T e =y
2. i b. W
3. Q?ﬁ'q c. TI98EyT d “‘{if =
4. agd d. aﬁﬁ’ﬁ"“’?ﬁfﬁwmwm
T Frsm
5. Yaq e YR, Tramdys 2 - T @ g TOE®
ECRR L L EE p—
= ﬁ:q T ﬁarvq‘r % @ wh I g - .
(A) 1-a,2-b, 3-c, 4-d, 5-¢ (B)  1-b,2<¢ 34 1¢ 3,
(C) ' 1-a,2-e, 3- b, 4-c, 5-d (D) 1. 2d3a 1 e
(E) Gilﬂﬁita LESE
34  Match List - I with List - IT :
List -1 List - 11
a. S Khilnani I. The idea of In¢ia
b.  Rajni Kothari II.  Democracy and Discontent
c. R.Guha IIl.  India After Gandhi
d.  Atul Kohli IV, State agains: Democracy
Choose the correct answer from the options given below :
(A) a1, b-I1, c-1II, d-1V (B)  a-IV. b-lIL o-l1. g1
(C)  a-I, b-I1, c-I, d-IV (D) a-L bIV. e-ML d-11
(E) Questlon not attempted
T - 15 qH - 1A frer @i
-1 -1
a.  ud Rawemy L 3 i &%
! b. o Fraréy Il Seirsd o8 e
| C. ¥R & 1. 3§ anwey 7
! d. oTge e V. Rz e FHEd
| " o T et ¥ il were ot e T P
(/}) a-1, b-11, ¢-111, g-1v (B)  a-1V, b1, -1, d-l
(€) a-llL, b-11, -1, 4-1v (D) a-l b1V, -l d-l
(E) e
1421 _4 . P.T.O.
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1- he follOW.

. in
; s:
2 ouses there 10 the o : ion of the
A Bill endj of. 8islature of state shall lapse by reason of the Pl'm“!m""" of the Houge or
ing ; -
Shall lapse q : © legisati : he legislative
N a d; gislative council of a state which has been passed by the legisiative assemb)y,

3. AB;
11l T S )
U Which g e lution of the assembly.

INg 3 . . N 5 e
assembly embly ; & In the legislative assembly of a state of which have been passed by ¢

lapse on a dissolution of

zvq})liCthfthe Statement b 'S pending in the legislative council shall not
©) :‘“g onl above is/are coffect?
(E) ng 3 only (B) 2and 3 only
stlon'not attempyeq (D) 2 only
1 P T Rrare Y
fre <oy & e
2 Wmﬁmmﬁmmmmmm%m%mmml
ST By TR & i farirs, Rret fr @ 3 wia R &, Reems &1 3 e o
3. ®r¥ frirn . ‘
Wi Fa{r:mmﬁﬁuﬁwﬁﬁﬂa%mﬁmw%mﬁmtwﬁmﬁmﬁ
T Y e gy e R g s A
/A How w23 7
© . Faw 2 33
© o hpas

(B) orqaRa qgT

Consider the following statements -
1. A parents or guardian to provide opportunities for education to his child or, as the case may be,
| ward be_tween the age of six to fourteen years. '
2. To provide early childhood care and education for all children until they complete the age of six
years.
3. To protect and improve the natural environment inclu
have compassion for living creatures.

4. To safeguard public property and to abjure violence.
5. To provide primary healthcare to the persons below poverty line.

Which of the statements above is/are related to fundamental duties?
(A) 1,2and3 only “B) 1.3 and4only
(9] 1, 4 and 5 only (D) 1.3 and>5 only
(E) Question not attempted |
ﬁwﬁﬂﬁaﬁamﬂ‘fqrﬁanﬁz )
1. m—ﬁmmm“aaﬁﬂﬂmaﬁaﬂgaﬁmﬁ,mﬁuﬁmmm%ﬁmmmm
araay e &l . _
2 grtFtrEﬁmﬁmaﬁmeﬁt'mmﬁmmmmﬁﬁﬁs:aéaﬁangqy’rq‘aﬂéf,
A waT @ & ferg T B
3 g@%ﬁquhﬂﬂ.ﬁﬁwﬁaﬂ,m,ﬁaﬁtmﬁat,tmﬁquaﬁaaﬁam
] gfey zan wra 1@

ding forests, lakes, rivers and wild life and to

ﬁﬁﬁagﬁnﬁﬁ : )
_ Wﬁqﬁqﬁwa@‘mﬁmﬂgﬁl
. g % a7 <@ vt & et st e gt e
- o a;é—a}ga‘qﬁja,.!
Waaﬁggﬁf = (B) 3w 1,3 T4
(A) mi’mﬁ?s (D) Faw 1,3 S
(®) sad 1,
(E) oI 18
N P.T.O.
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38

39
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Which of the following statements regarding Soil is/are FALSE9
1. Fertile soil supports plant growth by providing plants With ..
and serving as the substrate to which plants anchor their Tents, acting as a water holding body
2. Vegetation, tree cover and forest prevents soil degradatigﬁts'
soil, maintaining water and nutrient cycling. and desertification by stabilizing the
3. Grass found on pasture lands cannot protect the soj| againg . .
biological activities. %0l erosion and also inhibits the soil
Choose the correct answer from the options given below:
(A) 1 and 3 only (B) 2and3only (C) 2 only
(E)  Question not attempted (D) 3 only
wgmﬂﬁw&f@amﬂﬂ'ﬁm\mm?
. mwiﬁmﬁwmﬂw#mmmmm~ . _
dvet o gfis A wermm w3 WIS 7 et % w9 A Bl HTH
2. mﬁr,qn,mmqummmu:&mﬁmwﬁ, :
T Grw! F THT B 7T T ¥ 91 % Rerfior & wra—arg W@
3. mwﬂmﬁaﬁhmﬁ@aﬁtﬁmm#?ﬂm%* ,
% A7 Hors nfrafirai @ o Tt
9 frg Mg Rreredt ¥ & @ I 9P
(A) ¥a@ 133 (B) ¥aw 233 (C) %am; D) ¥ 3
(E) maaﬂ'a LEN] ’
Consider the following statements under Article 18 of the Indian Constitition:

1. Any Citizen of India can take any title from any foreign State

2. In Balaji Raghavan v/s Indian Federation, 1996, the Supreme . , , i
Vibhushan', 'Padma- Bhushan' and 'Padamshree’ is a title but these :::,r V?:In?":“f;: tt:‘:t I;aa?im?.

Which of the following statements given above is/are correct” e 1l equality”.

(A) 1only (B) 2only »(C) Both!ang> _ o
(E) Question not attempted (D) Neither 1 nor 2

Wﬁﬁmﬁm@us%ﬁﬁﬁﬁwﬁhmﬂv%iﬁ;;
1. Aa & & it s PR wow & sulty wra 1wt
2. mwmmm(lwe)ﬁmmimmﬁa%mtﬁsm—m'
m—m’qﬁmﬁ'mtwmwm%mmmmm
I HYA F D G/ HIT G LA ?
(A) Faw1 (B) ¥aw2 (©) 132 (D) Fd 1AM 2
(B) argafa wew '

With reference to Directive Principles of State Policy consider the following statements :

1. The Directive Principles of State Policy of Indian Constiution have been clearly divided into
three parts, i.e. Socialist, Gandhian and Liberal.

2. Directive principles of State Policy related to co-operative society (under Article 43) of Indian
Constitution is taken from Nehru's objective resolution of 1346.
Which of the statements given above is/are incorrect? .
" (A) 1only (B) 2only (C) Bothland2 (D) Neither I nor2
(E) tQuestion not attemp:d
T % ity Frdave Regial % et ¥ Pt gt v R St - .
1. W W@ & it woa ¥ iy e Rigidl 3 a7 W § R e ¥, aan -
Ty, e s sErar) . :
2. v s 3 1w 3 - Prd e i o wrr) abi (2 45 ST F T ¥, 5

’

e % i w1946 @ frar mn
VURT HU F BT WA Bl ‘ .
(A) w1 " T;q ¥ 2 © 1@ O Fd s di2

(E) orgufa v

P.T.O.




Match Lig¢ . I with I,
List.y o ot-l
a. EStimat
(<] .
b, Public AcCornmlttee U-‘;ﬂ- "l
co 1. 22 hers
< Rule Co m]t::ec()mmme 1. 30 M:::::hcrs
d Depal'tment-relatOf pok _S“hhﬂ 1. 31 Members
Ch Standing Comm . a"llamemar_\ IV. 15 Members
Oose the correct N
(A) a, b-I, c-]v_a(l]]_sl‘]\l,er from the Options given below :
(g) a-HL b1, ¢, gy (B)  a-1V. b-I11. 11 d-I
:I;' Question not attempreg _(D)  adl bl el d-IV
“TH T - 11 Ry By
-1 '
-1
a. U [iRy : Eﬁm
b. % dar whyfy T
. SN 1. 3089
i Fram wfrfy . 31 @wE

P sh it e ey
‘ﬁ%ﬁqmﬁ ﬂ'ﬁﬁﬂﬁaﬁ'{mmm:w. 15 95

(A) a-IL b-L. c-IV. d-1ni (B)  a-IV. b-I1L. c-I1, d-I

(©) alL bl c-1. d-1v (D) a-Il. b-L. c-111, d-1V
(E) 3rgafa we=
41 Match List - I with List - II :
List - I (Articles) List - II (Provisions)
a. 265 I.  Taxes not to be imposed save by authority
of law '

b. 266 II. Consolidated fund of India

c. 267 11l. Contingency fund

d. 263 IV. Inter-state council
Choose the correct answer from the options given below :
(A)  a-l, b-IL, c-IIL d-1V (B) a1V, b-1ll, ¢-I1, d-1
(C) a-lIL b-IL c-L. d-1V (D) a1, bl 111, d-1V
(E) Question not anemple’dﬁ
@-[m@-[lﬁﬁﬁﬁm:

- 1 (o3 ) T - 1l (v
W 265 I &A% wigan & o &t 78 s s
’ Il.  wr7q @1 |faq fafa

b. 266 . safEEar faf

c. 267 IV. Sa7-719g gfrog
ﬁmmﬁmq:w (B) a1V, be1ll, 1, d-1 L
(A at, bl el v (D) a1, b1, eI, d-1V ( 2
() a-lL bl c-1. d-1 ~ V)/% 5
(E) ergarea 93 —_2)

20 ///(i 3 P.T.0.
1421_A
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Consider the following pairs

. 5 bl
Committee of the Constituent Assembly Chairpenon
I, Lanunauce( ommittee Ja"'ahai'l IN
P {Inion Power (‘()mmi"ee Otury S:l)a:::: ana
3. Minority Committee : He “f)okharje:
;1‘ Fundamental Rights Suh—commme‘:al Rights B Kriplani
5.  Advisory Committee on Fundz:l";er:at‘:he&ﬂ 5 ‘t"”-’hhbhai Patel
i.s given above are correc -
How many Pa“'s.g (B)  Only tw,, P
(A) Only | pair (D) Al five gy
(C) Only three pairs M
(E) Question not attempted
wiftary 7 A AP e
1. ey afuf -*’i‘m-:‘ =
2. @ o @il T T
3. areqdea® atafl T R
4. s aftrpre Sa-a RS o
5. diftr STl WY FEATEBIT AT TR
S ¥ & P g w8 gAfera 7
(A) %o | gH (B) e i
(C) ¥a@3gH (D) ®=Hs7=

(E) orgara wed

Consider the following statements regarding the Bill of rights :
1. The “Motilal Nehru Committee™ presented a bill of rights in 1930

2. A Bill of rights prohibits government from thus acting azainst the rights of the individual and
ensure a remedy in case there is a violation of these rights.

3. Government cannot put reasonable restrictions on the exercise of our fundamental rights.
Which of the statements given above is/are incorrect ?
(A) Onlyland2 (B) Only Zand3
(C) Onlyl,2and3 - (D) Only!and?
(E)  Question not attempted
SRSRY & Hiwomys § Tt Prefaiaa suei v R $a
. 1930 % ‘Hrfiene ew aiiy’ ¥ sftari &1 us gy w7 59
2. Sfrerdl w1 ST SR B A 3wt § e 3% 50 § TR E S ST See
B 9N WY Suar ghiyed st ¥
3. WY it st % wan ax ahfrerget wRrea @ w0 Ed
ST X ¥ BN FIA HU T 3 2
(A) a1 a2 (B) ¥aw 233
(C) &aw 1,273 (D) aw | 33

(E) orqofta wew

1421_A P.T.O.
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Given below are two stat r i jabelled as Reason R -
Asserti ate '
ssertion A : Federalisy, g federal system,

Reason R

m . an -
eNts : One is labelled as A.l.l(‘l-ﬂ““ A e to I)HTF“"““

i . .
Resid N India is in recent yvears MY ng
: uary ' . .

In the light of the abov Y powers of legislation arc Iy {he options given below -
€ statements, choose the most apl"‘"l’ﬁ“'

(A) Both A
and R
are correct and R is the correct explanal

(B) Both A
and
(C) Ai R are Correct and Ri NOT co rect c‘\[‘lﬂ'"‘
IS correct b.ut R 1S ool

(D) A is not correct bu:::(?‘ c:nrmct.

(E) Question not a“emme: correct.

e A FATRT Y v an A*“ﬁ,m@ﬁm,ﬁ;mﬁ
A s et % s s e e @ S

mtfcrﬁa:amﬁ: Rorer & srafire sferat 3w 3 v

¥ STTeis F $rd o o e A @ wAEE

(A) AT RAT T ¥ oft R A 2w zren 30 ¢

(B) A ot RI wh ¥ 3 R A 1 wh en T

(&) ARt afsas REA T8

(D) A Tea ¥ T R 2

(E) orgaia 9

Given below are two statements:

The Indian National Congress reject
convinced with the dominion status
The Muslim League accepted the ‘Cripps Proposa

pakistan was accepted by the proposal.
bove statements. choose the correct answer from the options given below :

mﬁmmwﬁﬁﬂ

ed the *Cripps proposal’ because Congress was not

offered by the British.
I because the indirectly demand of

Statement |
Statement I1

In the light of the a
(A) Both Statements I and Il are truc.
(B) Both Statements I and I are false.
©) " Gtatement I'is correct and
(D) Statement I is incorrect and Sta

(E) Question not attempted

dray & et e T E - et
S s e WS E ST F o e w1 S T S 3
frafr & @ T A1
F@A Il : gﬁaﬂmﬁﬁwwm'mémwaﬂmaﬁﬁaﬁmammﬁmﬁaﬁmﬁqﬁﬂ“ﬁ
mmmml
= & <rg fa w0 fa@e 7 A WO I @ A w5

Sratement Il is false.

tement Il is true.

aqﬂﬁa;aﬁfaserra‘rﬁ
(A) g ytenAA TR (B) w1 ahe 112 st ¥
(©) ﬁuﬂ-laﬁtmﬁmllmf' (D) & 174 ¥ i1 gum 1|5 &

(E) mj'ﬂ'ﬂ'a EL

22
P.T.O-
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Consider the following statements : ( .
: icle 356. Gavernment could de lare .
I. According to the Article Clare ate o5, al
threat only. ~Teency on grounds of extern
2. Once a emergency is proclaimed the federal distributic,, of
L. CC @ ey
and all the powers are concentrated in the hands of

Vi tiay. .
the Uniey . Ty "eMains
3. The 427! Amendment was also passed during the eMer

| 9nd
4. Among the various changes made by 42 Amend
in the country was extended from 5 to 7 years,

practically suspended
drremment,
2engy

ment, o, ..

"Mt the duration of the legislatures
. 4 l)
Which of the statements given above is correct?

(A) land4only (g)
«C) 2and 3 only (D)
(E)  Question not attempted

Preaforfiae et ot et #f -
I wzsa%a@nmmm%“@wm%#ﬁ b
2 Wﬁm%mﬁgmmwwmﬁ%ﬁwﬁmﬁmt
afre |ty siferral % TTHR % T H T o ¥ o
_ m%mﬂﬁéﬁmmnﬁmﬁmwﬁumm;
a. 4ﬁﬂsﬁw%aﬁq§qmq’*ﬂ'a"if@m-’}“*’ﬁ%%mﬂs‘:saﬂéwwﬁ
&
IR A Y B A Fo wh
(A) &ad | a4
(C) &aw 23T 3

(E) rgafyd usd

Arrange the followin
latest)

1.

1 and 7 .,
& 'P"j

3 Oni'j

<~

(B)  %am | 2,
(D) %3

g events performed by the Constituent Assembly in the correct sequence (earliest to
Ambedkar's first speech in the Constituent Assembly.

Adopted national flag by Constituent Assembly

Approved Commonwealth membership of India

- Nehru's Objective Resolution

(A) 1,2,3,4 (B) 1,432

©) 4,1,2,3 (D) 3.4 1and2

(=]

W

(E)  Question not attempted

ﬁwmmmmmﬁmmﬂmm(mam
. ﬁﬁummﬁ'mmwwmaﬁmw

RAEILEE LR[BS p—

Wﬁwaﬁmwmﬁ

TEE B Ry weg

(A) 1,2,3.4

©) 4,1,2,3

(E)  sraita we

(3]

& W

(B) 1,4,3,2
(D) 3,4, 172

1421 A
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Gi\/en
) low

Statement .t“o St (‘“‘lt'n
tatemenl n . The . ts

~ LT a ) . ‘ .
In the lighy of t L he [)il‘(\~ ?‘l‘lum Rights are non-justiciable in the courts.

iciable in the Conrt
R ) e made qusticia *
Both g, "V dtare, "NCiples of State Policy (DPSP) are iven below
(B) S alemcm-.| hen

» . 1ON< 44
LA Chooge . cwer from the optio
¢ the correct an
Both Slalemem\ i ang 1y
a

(C Are |h|(.
(D) Atemeny g ;. Are fale
) tatemey, Clang g ,
(E) ULy . "atement 11 e falec

u l Cl .
-‘ﬁ'é' H} - on not a"ﬂ‘mmo and slnu_—-l'n(-lﬂ 1M troe

SR £ f;tznhﬂwz}mmh ,

A Y LT farae A 3T W EIEF ,

EC)) 'Wllﬁqﬁmh dn.mz‘mmﬁ”m"ﬁ‘mtl
ml«ﬁt@hmnm;, (D) #aa | e b ol weE 1 EE R

Given below

are two Slﬂ‘emcm ‘
Statement | >

“The doctrine of basic structure” has been propounded by the Supreme Court i g,

Kesavanang; :
a Bharati case in 1973, ) o
Statement 11 : The Indian Parliament has the power to amend the whole Constitution.

:“A;:he IBiihl of the above Slatements, choose the correct answer from the options given below :

th Statements I and 1) are true.
(B)  Both Statements I and I are false.
(C)  Statement I is correct and Statement 11 is false.
(D)  Statement I Is incorrect and Statement 11 is true.
(E)  Question not attempted
iR SRR \

2 ' ' : ' A’ T

FEAI: 1973 ﬂ'mmmamm@ gfrard wa & faia’ i wiarfa
F0 O: mmtmﬁmﬁﬁm}mmuﬁmﬁat[
IV HU & JeE | Hre few o fawed @ @ vl Te @ 9ad ot . N
(A) ®g=s 137 o= ax b (B) @ua | i 11 21 378 B \
(C) =mga1®E1t ah &a= 1] ea k| (D) @uq 1 7Toa ¥ 3T &Ye 11§ &

(E) gaia wsa

5 C IC from earliest 10 latest)
'l vements chronologically (
Arrange the following mo b, Ahmedabad Satyagraha

2 Kheda S:D/ag:i::graha d.  Champaran Satyagraha
Rowlart Act )

c. | xiven below:
. m the options given
Choose the correct answc?rBf)l”O cdab (C) dbac (D) dacb
(A) ach d red .
(E) Quespon not ancmF;m 5 wrafad &1 (s | fze)
faeAfaftad &1 FETIEES b, SERETETE GRE
e gaIE d. Y Hemmre
a.
ez ae qgaTgE
C. > ?:[ m A7 afq; 7

ﬁ%m;’ri?mq ‘B) gdbl' /‘(_.i dhd\ (l)) d'dL‘b
(A) ac

(E) aﬂ-aﬁﬁusﬂ

i P.T.0.
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satch st | with T st I

LIST !
(Dams)

A Nijzam Sag

&1

ar Dam

n Coma-tla [)am
Nathpa Ih kri Dam

(I) | lu';.m\m,lkki am
(\) I B (v, Dl
(C) \-IV B TR
(F) Question not :ulcmpted
e AR wull il Afar

i
Gl

A fram grrr A

B ayfien

¢ orm wrEd A

. femeE AT

(A) AL BL CIV. DI
() AV, 1. C-11. DT
(F)  yrgafra 99

&2  Match List | with List 1L

LISTI .
A, Geographer who introduced the

concept of 'stop and go determinism’

B.  Geographer w ho opined that climate
profoundly influences man. his culture,
and geological processes

(. Geographer who wrote the book,

“The New World: Problems in
Political Geography'

D. Geographer who opined that, “Nature

is not mandatory but permissive’

q 1 3 g 11 & e o
Tl
A e Pre R o M R
F1 FALTCN Y91 A
THH HEFTA 3Ty aim

TETE § WITAd BEl &
C ‘Fﬂmw-‘q“m
L. s e ax 1 & T, wpi
W‘Tﬁimmt' .

(r\‘) A-LL B-1, C-1V, D=1
() AL BV, C-lLL D=1t

(£) Question not attempted / Wﬁ?‘ -

4217

I
i
)
v
(B
()

I
)
I

v

(B)
(D)

V.

(B
(D)

LIST n
(Rivey,,
Penn ar ¢

'h-'"'l ith, .
"'N’\! ™

igtls; .
-1 B

-1 By

=0
(=,
=
T —
i =
AL
W

LISTn
E”\“& Mol

Gnffits “mvior

Jean 3rinne

lsaran 3owman
bedt

TR T s i

B AR
S  oh

\-I\, B-L, C-LIL DI
\-I\, B-L C-IL D-1

.1;F(‘nv‘t;."

P.T.O.



“HYF 11 :

Given be

St are t
. atemem 1: Wo Slateme
n 19605, the Nts:

lau Ove
nched the Greemmenl Of Ing;
CVOlygia, " Under the then Food and Agriculture Minister Chidambaram Subramani,,,

10N w; .
S evolur Vith the help of a geneticist. M.S. Swaminathan.
o 1 .
Nara 64 intro tion high., ieldi . '
u S1elding varicties (HY Vs) of dwarf rice seeds namely Lerma Rojo-64-A ang

In the 1 > .
ight of cediin 1ng; :
A) 1€ aboye 'ia, which w ere imported from Japan.

( B ve
oth St Statep ) . .
(B) Bortl, Slatememg la NS, choopse the most appropriate answer from the options given below:
(C) Stat atemems I ang 1 are correct
(D) CMENt 1 is ¢ lare incorrect
E Statement Lis ine €t bug Statement 11 is incorrect
(E)  Question Lorrect by § W
N not attempyeq latement 11 is correct
T & wee R o &
FYFI;

1960 % 297% ¥ wr e 3 o .
Eﬁ?mqa%ma TS wm ot Fiy wh e gavan & ode enafiaieg vy,
, g&amaﬁﬂ'ﬁma’hi

s wify &
s fi::lr? TarE @,—a U1 B T D A (HY Vs) ot Lerma Rojo-64-A 3T Sonara 64 &
mlﬁ _aﬁ’m‘-ﬁf’%w#mﬁmwml
o Waﬁrmﬁ-mégq%&qmﬁmﬁﬂmwgﬁmmwaﬁm:
o U | I <= g & (B) & 1 3T 11 3 e ¥
YT 1 T8 AfeT e 11 e & (D) &9« | T & Afe HuA 11w

(E) rgaia we=

S4 Given below are two statements:
Statement I:
The National Food Security Mission (NFSM) of India was launched in October 2009:
Statement I1:
The mission was launched with an objective 1o increase the annual production of rice by 10 million tonnes,
wheat by 8 million tonnes and pulses by 4 million tonnes by the end of the Eleventh Plan (2011-12).
In the light of the above statements. choose the most appropriate answer from the options given below:
(A) Both Statements | and Il are correct .
(B) Both Statements I and H are incorrect
(C) Statement I is correct but Statement Il is incorrect
(D) Statement I is incorrect but Statement II is correct
(E) Question not _gnemptcd
$ra 2t @y fag T E
i fi 3 2009 ® g1& faEa
Wm@qmmmmmmswm e T an|
Wasm “-:m:n (201 |.12) % #id 9% 90 ?:5 ﬂ'_"'ﬁmﬁ' 10 faferam 27 7@ &1, 9 & 8 Piferaw = a@ A
arelt 4ﬁ;fauazaama31§f%’"‘“ & TE7a § e ot o e an |
@aﬁm uﬁﬁwﬁﬁmﬂﬁmmmaé“'émwwmm:
@ NS (B)  mu I 3T 11 S e ¥
Ay waal I — (D) T | o ¥ A
{ ¥ afem @471l ' B | wét ¥
) ®uil gl
-
(E) arjﬂﬁ'a 92
2 P.T.O
1421_A



Match List - I with List - 1T ;

45 List - I (Articles) List - II (Ppq.: .
a. 61 I lmpeachmc::‘flsmm,
b, 72 1. Pardnning Pow
c 54 . Election e
4123 IV, Ordinance
e. 16 ) ~ V. Appointmen, of
Choose the correct answer from the options given below - Attorme, Ge:
(A) -l b-Vo eIl d-lll eIV (B)  alV.p " Heneral
(C)  a-lbIl el d-1V. eV (D) adl by S ey
(E) Question not attempted Gy, eV
& _ 11 g0 - 11 & frersr e
A - 1 (3 9a) -0l brvrms,
a. 6l . ==y
c. 54 . 7m=
d. 123 V. Zamy
e. 76 V. WEITAT 3 s,
4 g o et F | 7 I B T A k
(A) a-l, b-V, c-IL d-III e-IV (B) alV.om . ..
() a-L bl c-III, d-1V, e-V (D) a5 oY
(E) gaia us
56 Match List I with List II.
LISTI LISTn
A. Albatros plateau I.  Norh Atlanre A0
B. Telegraph plateau . Norh-eg ;kf(.:iaf :
C. Amsterdam-St Paul plateau M. South-Fay Pacis ,c( "':3"
D. Kuril-Kamchatka Trench IV. Indian Ocean 0"
(A) A-2,B-4,C-1,D-3 (B) A-3.B . 4 po
(C) A-1,B-2,C-3,D-4 (D) A4 BI(n
(E)  Question not attempted T
T 1 H gﬁ % e I
I i
A, FERZE TS S e
B. TE% YSK Il T99%-79R 19 S
C. UREEH-¥2 uid 9o Ml THm- =
D. FHir-wHeesH Td V. &z =
(A) A-2,B-4,C-1,D-3 (B) A3 BI1L.C4.D-2
(C) A-1,B-2,C-3,D4 (D) A B3.C-2D
(E) oraia ueA
57 Given below is a list of prominent Geographers and the countries © which they belong. Identify the pair(s)
which is/are wrongly matched.
1. Jean Brunhes - France 2. Mubammad al-ldrisi - England
3. David Harvey - Spain ‘ 4. Grehard Schott - Germany
Choose the correct answer from the options given below: 5
Efé)) 6and 4only - (B) 3and4only (C) land3onh (D) 2and 3 only
uestion not attempted ~ o Rrem
RRA i lre o Rai o e e 2 rd & Ry g ¥ e 31 e B Tt
wqH T ¥ s
Sl F T - Wi 2, w@'ﬁm'w
‘-ﬁ;ﬁq Iy T - A 4. wie -
Y fermet ¥ | wé T ghw X ¥aw 2 90K 3
(A) w1 alt 4 (B) e 334 © Fwises 0
(E)  srafa wew
1421_A

P.T.O.
27

—



588 M .
} . Match List I with Lj
(Ii.lST I .St II.
edogeni jsT1I
Podzolizatior TOCC 4
L ization s) ' ('Di:!::;i(l:u"' )’ with humid c‘:""."‘id"ﬂfit|.(|e
: aterizati : A iferous vegetation
crization ﬁ"":’::i;t Oty soils found in
Calcificatio . m»iwic'all and subt™ ical environments
n o IS assouiﬂ with wa_nn. semi-arid
. . cn\"im"me'"s' ..;u{;lly‘ in grassland vegetation,
D. Gleization where €vap pspiration exceeds precipitation
v, s associat vith po_orl_\’ drained and water
. ggcd areas ¢ d climates and peat is
(A) A, B-1. C-lILD-1v found in the uP er portion of the soil
‘((E:) A-I, B-II, C-lll. D-IV (B) A-1. B-1l. C-TV. -1l
(E) Question not attempted oy A-V.BI C-I1. D1
ge 1 &1 g 1 & e A
I
m 1
A wre ) g“l""
' AT 1. uzanﬁsﬁﬂﬂwfﬂmﬁ:""ﬂm
. ﬂ'ﬁ‘ T Ia' l
B. &EAIH ' e .
L e LIk a Wﬁﬁa qata
C HReied r‘hrr{mﬁmﬁﬁg'&ﬁﬁwﬂ@_h
' N . e, dH- I qafac & gifera ¥,
ST 9 Ed 3 Azl & T AT
D Tt & ST aftr gar & |
), TEEAT IV. uzz‘s"rmargasw_m
m— L e T U
et & s & qraT St T
(A) A-IL, B-L, C-111.D-1V (B) A-l, B-11, c-1v, D-11I
©) A-L B-11, C-111. D-IV (D) A-V. B-111, C-11, D-
(E) Srgaia g
59 Which of the following statements with reference 10 natural resources ;s/are FALSE?
|. Biotic reso < are the resources obtained from biosphere and have life such as human beings,
flora and fauna, fisheries. livestock etc.
2. Thereso which can be reproduocd by physical. chemical or mechanical processes are known
as non- renewable resources. —
3. Theresou occur over 8 very long geological ime and take millions of years in their formation
are called renewable resources.
Choose the correct wer from the options given below:
A) ! only .(B) 2and 3 only c) 1and3only () 2only
stion not antempted A N
E), Qe -ﬁmﬁﬁma@ﬁa‘mm@mm?
1. aﬁﬁﬁmﬂﬂaﬁzﬂﬁﬂmwtmﬁﬂﬁhﬂﬁm%ﬁﬂw,ﬁmﬁrmaﬁmm,
qgIe stz | .
) Y e ot AT Wmﬂmmﬁmgﬂ et o o e b, AeTAET
' mﬂtwﬁﬂﬁmt' -
3. awﬁa}maﬁ{n‘ﬁ"ﬂ“ ¢ ~mwnar@’fadaﬂat,=reﬁarwﬁﬂqmvﬂmﬁ
¥l .
frapedt 4 g |l gt g
(A) Fad | ) :
. _
(E) grgared 72
# P.T.O
1421—A A YA



(jiven below are some of the definitions of Human geography, . def
60 the pair(s) which is/are rightly matched.

i, Human geography is the synthetic study of the relaticny, -
surface — Friedrich Ratzel

o by, *l'hr] uoqy;phers Idcntlfy

human societies and earth’s
2. Human geography is the study of changing relationship b,

earth — Ellen Semple "% mtesting man and the unstable
3. Human geography offers a new conception of the inte, o V
beings — Ellsworth Huntington 79 betwzen earth and human
4. Human geography may be defined as the study of the ngy, ., - ‘ _
between geographical environment and human activitie; nd i'u‘ ‘ ‘r':;"r,r'. ~ff the relationships
Choose the correct answer from the options given below: - Paul Vidal de La Blache
(A) 2and4only (B) 3Janda., )
(C) 1and2only (D) 1andt-, '

(E)  Question not attempted

mﬁﬁﬁrﬁmﬁmmmﬁﬂﬁmﬁmﬂl Ty 5 Ao ¥
|, A iR S G A A A e F A e S

2. W S ST A AT AR A B A T A S oy e s

3. A i g ot A % e sttt A 75 W s g ey

4 =Ry ¥rTTR

mwﬁmmmmnﬁwwwm N e %
st % w9 § et P om wme X - ofet Rt & o wes S T

4rd fag g Pt & & w3 g
(A) ¥aw 23htd (B) %W,
(C) Faw a2 (D) %awm | dv.

(E) Saia usd

61  Arrange the following five zones of the pelagic region of an ocean in the increasing order of its depth from

the surface.
1. Mesopelagic 2. Epipelagi
3. Abyssopelagic 4. Bathypelagic

5. Hadopelagic
Choose the correct answer from the options given below:
(A) 5,1,4,3,2 (B) 21,4353
©) 1,2,53,4 (D) 41,233
(E)  Question not attempted

T TETETTC 3 YR & % Preafiiaa ie sl 51 G § gow TS § A 5 6 59 ¥ et i)

2. wENafTs ) TS

3. ufENeiTS 4 TS
5. EsNdfNe

A R o e § ¥ @l T gh _

'} (A) 5,14,3,2 (B) L L4 w

‘ €©) 1,2,53,4 (D) 41,253
(E)  srpafia wed

P.T.O.
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62

Match Llls-‘t - I with List i
a. 2 ;Zt -1 (A"icles) !
b. 24 s List - 11 (l‘mvlsinns? |
. s . 1. State Finance Commission
a 200 (D) 1. State Election Commission
ez (E) Im. Committee for District pPlanning

A Iv. Committee For Metr
e
(A)  a, b-I1, -y, doIv I from the options given below :

(©)  allL, b1y, e, gy (B)  adV. bl el dd
(E) " Question not attem (D) adl ble-l -V
T - 191 T - 112 e wi
e 2 -
S IE (srde) - )
a. 243 (¥) T - 11 (e
b. 243 (o) 1. o fra emEm
. Twagad STar
c. 243F® (&)
d. 2433 (& ni. fwen dreen afifa
& fa ) IV, e i & R
Y et ¥ / wh suw @ Taw S
(A)  a-L bl eIl d-1v IV, b-111, eIl d-1
(C)  a-III, b-IL, -1 B 4
> .c-l.d-IVv (D) a-ll bl el d-1v
(E) orgaita wew
63  Match List - I with List - Il :
List - 1 List - 11
a. Sanskritization I.  Rajni Kothari
b. Secularization of caste II.  Granville Austin
c. Social Revolution 11l D.L.Seth
d. Politicization of Caste IV. M.N. Srinivas
Choose the correct answer from the options given below :
(A) a-l b-IL, c-I1L, d-1V (B) a-1V, b-lIl, ¢-11, d-1
(©) a-ll, b-1L. c-1, d-IV (D) a-IL b-l, -1, d-TIV
(E) Question not attempted
g - 151 q-07 oy #ITAT
g -1 -1
a. a.q;&.'m I. T ®eTh
b, Ry P T 1. =fam et
.. amts WA nm. & ue. 4
srfey @1 T IV. wH. uA. diframE
: e T 1 GG &N
vy fag g Rt A @ T
A) albIh c-II1, d-1V (B) a1V, b-111, c-11, d-I
©) ol b-11, c-1, d-1V (D) a-I1, b1, c-111, d-1V
() a3
30
1421_A
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with reference to the different types of soil found in India, identif, |

o . qubmontane Qf»il - These are formed by the deposition “fzn:c PN which is/are wrongly matchedi
region ntrctchm;.cl }f‘mm ,Imnr:u Iaml Kashmir to Assam - Material and are found in the Tara
arewa soil - These are the lacustrine deposits o
. l\jalley. prstts found in Kashmir valleys and Bhadarwah
3. Peaty and Marshy %'nil -'Iheqc are typical soils of the mep., . I
. rainfall and is deficient in organic matter. " himate characterised by seasona
4. laterite soil - These soils are rich in humus and organic. o,
Choose the correct answer from the options given below .
A) and 2 only (B)  2and } ony
) 1.3 and 4 only - (D) 3and 1o,
(F) ¢ )uestion not attempted ‘ -
e 3 A et ST A A A Ao oo
tl :
L g-q-qﬁqwim A e At % T A A A o s B
A ¥
3. X g - A B B WL ST T A A A e ey
3. &zmmﬁw—rﬁmwﬁEMaﬂmm#wﬁt P -
qareit #Y HH EA B ' kAt
4, XTI - A YA NS A FES T 8§ Ay o b
33y e T Reremel & & wéY I g
(A) e | a2 (B) Fa 14
(€) ad 1,3 34 (D) %34y
(E) organa 9
65 Which of the following statements with reference to the main cropping seasons m India is are FALSE?
1. The terms ‘kharif’ and ‘rabi’ originate from Arabic language whers Kharif means aytumn and Rabi
means spring.
2. Kharif crops need cold weather for growth and need less water
3. Rabi crops generally require more water and are called monscon crops.
4.  Zaid is short cropping season during summer months and mostly seasonal fruits and vegetables are
grown in this season.
Choose the correct answer from the options given below:
(A) 1and2only (B) 1 and 4 onh
(C) 3 and4only (D) 2and 3 onb
(E)  Question not attempted
| WA ¥ WS % e Hre % e ¥ Prafaias s § § s W sy
; I Elw ol @ smamhwﬁmgqtaﬁmmwtmﬂmmmmkmﬂl
| 2. wiie B wEEl a) ge 3 e 5% daw B sl B T 5w
| 3. T o e @ S T o e 2 e S & ot ¥ T W B A ¥
4. b % WA 3 AN e 1 T S s d b o g S A SRR e s she
wiewal Img W ¥ |
Y R P § & W e g
(A)  ¥aw | a2 (B) Faw | T4
(©)  Faw 3 aird (D) aw 23
(£)  Irqafta wew
1421 o n P.T.O.
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Arr.
weight) e fOllowy
In th e
Sir © Eartpyg A lemepy, in th .
. o con St. ¢ decrensmg order of their availability (in terms of percentage |,
R e | "
mﬁ i 2. lron
1. %_‘#h i) ) T ‘ 4. Sodium
3 ! W%mmmmﬂ'(mtuﬁm%mﬁ)mﬁm%'
Choose the co&e 2. WA '
; c.t a_ns“'er from th 4. wiftam
C oph . )
| (é)) 251 3> - C |:\|mns given below:
E) 1>4>3>2‘ (B) 3>1>2>14
Questlon not Attempreg (D) 4>1>3>2
67 . 3IEIE| T we
Match List | With List
LIST 1 '
A (Landforms) LIST 11
- Cirque (Occurrence)

1. The landforms found associated with
floodplains, along the banks of large
B. Lapies rivers
II.  The most common of landforms in

C. Natural lev glaciated mountains
cvees 1II.  The landforms with a relatively flat

rock surface formed by the joining of
several pediments, generally found in
L arid and semi-arid areas
D. Pediplain IV. The landforms formed when most of
the limestone is taken away by the
pits and trenches

(é) A-IL, B-1V, C-1, D-III (B) A-IV, B-1, C-III, D-lI
(C) A-l, B-IV, C-I1, D11l (D) A-1II, BV, C-I1, D-1
(E) Question not attempted
gdl 1 &1 gat 11 | foems Fifwe
| @
(4o (W )
A ob | e 5 et e @
f%ig;rﬁa wé;’r # gEd
B. wd& n. fe : =
Y- apfadl
- 1. % JYAGHd GUIE TIH Bl GAE & QY
C. gL ad -G T AT T 9 3
F- g &l 4 qr W AT a5 dfeded
# e § a9l |
IV. T 9 gigfaal aq gl & we siftraisn
D. dfew 91 T el S g e faan
EICIE
L DIl (B) AV, B-L, C-111, D-1)
Ay AL BEIJ’» T (D) A-IIL B-V, C-I1, D-|
A-L, B-1V, =770

©)
el
(E) Tgeted £y) pTO.
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69

Given below are two statements one is labelled as

,\sserﬂm‘u A

The "Doctrine of [.apse’ formulated by Governor-Creneral Da

to the throne and the state automatically lapsed int British d; rr, e 4
hm

Assertion \ and
d

“ ther 15 labelled as Reason R.

"“arded the right of an 8d0P‘ed heir

natural heir. " e fler died without any piological
Reason R :

The Doctrine of Lapse was one part of Dalhousie’s programme

control by doing away with alternative sovereignties held &, r-(: " "hung 3 unified India under strict
in the light of the above statements. choose the most «\DDrw";r yta ;- ™3 and princes

(A) Both A and R are correct and R is the correct explanation . "2 rom the options givVED below:
(B) BothA and R are correct and R is NOT correct explanaric, \_‘

(C) A iscorrect but R is not correct. '

(D) A is not correct but R is correct.

(E) Question not attempted

S Ao B ¥ v AR AR ST A i mm AT R 5y

ARFETA A ’

e AT SEEA A g % fgEE BT H TS § e o .

ammmmmﬁmu&smﬁaﬁémﬁmﬁswﬁ;nr:;“ e P et

FTR: ©5

T 9T T THGET AT ABTH SEH B A B T 5 0 arm S : Pt
HTCe B @ T SAETAT AT BT TH WOV AT ' TS S L

g Ha & e ¥, A B et & il 3 A gTE e

(A) ATd R 2 gea ¥ 7 R.A Bt it zmen X

(B) ATe R 2 @ea ¥ 901 R, A Bt @i e Tt ¥

() AT ¥ fesg R ¥

(D) AT ¥ fhg R & ¥

(E) oaia 999

Given below are two statements : One is labelled as Assertion A md he other s abelled as Reason R

Assertion A : Daswant painter had committed suicide out of madness.

Reason R . The manuscript of Daswant's work Khandan-c-Tumuria s preserved in Khuda bakhsh

oriented Public Library, Patna.

In the light of the above statements, choose the most appropriate mswer Fom the OPLONS given below :

(A) Both A and R are correct and R is the correct explanaton of A

(B) Both A and R are correct and R is NOT correct explananon of A

(C) A iscorrect but R is not correct.

(D) A is not correct but R is correct.

(E)  Question not attempted . .

9 Y wu R U E @ A WAah;aiﬁmasw!wmmt-

AT A : TEEd RIS T BrT e B o 4 . .

R mﬂﬁm—q-mﬁwwaW\!@‘m'i'- ve ¥ wf
.1 .

I wUA em’rmﬁﬁ&qwqﬁ:ﬂﬁwﬁwmﬂm“ ‘

(A) A oht R we ¥ ot R, A 9 wé e ¥

(B) A ot R 2w §ea ¥ ot R, A 31 W = @ ¥

(C) Agwa¥afes R ¥

(D) A o & aife R & &)

(E)  arfafia wed

P.T.C
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;i St W A

ﬁmﬁmﬁﬁmmﬁmmnmwmmﬁ.

(A) 'éra‘fa;q-qlq.q.n Tt & wlt o @1 7w i

(© P IE ¥ AR o 1 s by
(D) mlmt%mumh
(E)  argefea use

Given below are two statements : ) : .

Statement I : Kanchi was the famous city of South India, center of education ancf cgpltal of Pallavas.

Statement I  : Kanchi's famous sche lars - Mayuravarma, Vatsyayan, Dingnag and HienTsang-were there.

In the light of the above statements, choose the mm@mﬁuo}_)ﬁqins.siven below :

(A) Both Statements I and II are true. TR e N,

(B) Both Statements I and llamf:lne A
[i but Statement I1 is fal

(C) Statement I is true "

(D) Statement I is false but Statement I11s v :
(E) Question not attempted ,

Y A pyw R T E - g '

S oft .:,\‘.:.

(A) Qﬁfmﬂlﬁl_lﬁmm o i

P

.....



*Mphasizeq that boyy,
OMpromise be mage. '

eu Working Class t, Ay 1ts role In the anti-imperiahsx st

In the light of the above Stat S, chooge he mogy appropy

) . Both A and R are 1S the corr

(B) Both A and R are Correct by i

©) is Correct byt R -

(D) i

P.T.O.




Sys .
ha tem devised by Lord Wellesley in 1798. All those who entered into such gy
POwer, Oulg be Accept certain terms and conditions.

2. In the terr SPonsible for protecting their ally from external and internal threats ¢, thej;
resou e ally - : /
3. he a:.lt;e\sw °l'| their mni{:mltlg a British armed contingent would be stationed and ally would Provide
ou . Nance
of " r : . ; ;
i A"t)l:e Brlt:sh. 'Nto 8greements, with other rulers or engage in warfare only with the PeMissioy,
) may
(A) se the correc answer Y With the alliance anytime at the disagreement.
©) : only ™ the options given below:
(E) Q, 2 and 3 only (B) 1and2only
uestion not g (D) 2.3 and4only
1798 % wré “eMpted

T T oy mm“ﬁlmﬁmmmﬂvﬁtmvﬁ'ﬁmﬂﬁlﬁmﬁﬁwﬁﬂﬁmw
I ot ‘ '

qmﬁ?tﬁmﬁmwmmagmmmxmmm

T s PN e T e o e e e 1 T A S vt

TR B3 T ST weghen a1 g e ot A e & T )

‘ﬂ"&ftq T TEA B oy wfr @ o @ wE R

AW

| awla*ad'*%wmmmﬁ;
) : (B) &aw 132
©) Fw1.2a3 (D) ¥aw 2,334
(E) gsafmuss |
75  Match List I with List II.
~ LISTI . LISTII
A. Setting up Supreme Court at Calcutta I. 1793
by East India Company !
B. Comwalis code enacted 1. 1774
C. Railway line between Bombay and Thane  1Il. 1881
D. Madras Harbour IV. 1853
Choose the correct answer from the options given below :
(A) A-L B-IL C-II, D-IV (B) A-ll, B-11, C-1V, D-I
(C) A-I, B-I,C-IV.D-II * (D) A-ll, B-l, C-lll, D-IV
(E) Question not attempted
g 1% gd 11 @ gafea @
@ s
A g-ggﬂrmm&smasmﬁ' L1793
gates graTed & ®reA
et dfean stfafamad . 1774
B ) Ted WEA 1. 1881
m IV. 1853
D. WA #Fifo
fyepedi & @1 I T TITIW
Rl &iﬂ[qa 11 Cll, DAV (B) AL, B-II, C-1V, D-]
(A) ey, 7 D111 (D) A-IL, B, C-lI, D1V
(C) AL B-LCIV. DIl
Gl
(E) ™ 36
P.T.O.
1421_A




76 Which of th'e following is not an example of Rocks “‘;’“h thnerlli: xtyren
(A) Granite ) Diorite
(C) Ryolite - (D) Gabbr,
(E) Question not attempted
Preferfiaa & & B o1 S FXOFeE w=Tz BT A Y
(A) T ®) Wiy,
(C) ez (D)
(E) gt ue
77  Consider the following statements :
1. Tiber river delta is not an example of cuspate deita.
2. Tiber river enters into Tyrrhenian sea.
3. The Tiber river flows through the city of Rome
Choose the correct answer from the options given below :
(A) 1and3only (B) 1 onk
(C) 2and 3 only (D) Vand2 iy
(E)  Question not attempted
frefafaa Hu= 9T e &t
1. aEET T 35 HEE T B ITET T ¥
2. argE T argerE g F freh ¥
3. O T 09 e A ¥
Preferfiae fedy T Roresedt & @ wht e o)
(A) ¥aw | A3 : (B) %=
(C) ¥Faw2a3 (D) %= | 2>
(E) Tamea ued |
78  Consider the following statements :
I. The Achaean rock system is the oldest rock system of India.
2. The most common Achaean rock is gneiss.
3. The Dharwar system belongs to the later part of Achaean system.
Chosse the correct answer from the options given below :
(A) 1and?2only (B) 1and3only
(C) All of the above (D) | only
(E) Question not attempted
frfafaa o=t w e &5t
1. onfhae et womelt e & T el S v ¥
2. wuw o anfhaw dw A ¥y
3. URETs 9 womel sfhEs e womet @1 we aen e b
Y Rl T vt ¥ & wht e g -
(A) &aw 1 alx2 (B) %aw | 33
(C)  SutE g (D) ¥aw |
(E) it wew
1421 A 37
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. the 1irs '
German Economlst Joh i created one of Thunen’s Location
agricultural land use, 1" Heinrich e to assumptions of Von
Which of the following th reference
Theory? T Statements are FALSE wi i mriﬂ"“""' hinterland.
1. The isolated state compri arket area and the city.
4 nem cept ‘
2. e hinterlangd ships itls) 2:?;&;:8 to no other market €X jain around the city.
3 ere are multip|

i i 's demands,
d € Modes of transport. " ing a uniform P the market’s
4. Thereisa homogenegy se sp:\'sical environment., ':::Iud'll:g automatically ©©
5. The hinterland is inhabireq by farmers who cannot adi :

Choose the correct answer from the options given below: 3 and 5 only

Eé)) Z'mnong?y (0) 2 3and Mqﬁ@mﬁﬂhﬁfm
(E)  Question not attempted a mmm 3 ; ‘
ST SR SET ¥ a3 gy yft SwE o o e
7 & T Rt A A & dad § Prafied ¥
mlﬁmmﬁmmyghmgm,ﬁﬂmm :

2. AR TEMH T B SreA ; o g ¥

3. aREed & e wmE ¥ mtﬂmm%wmm|

4. Um g i e g ¢, R oy sl 2 w7 S A i

5. arifa gt ¥ A frer e ¥ Ri w2
g g e ot ot S S
s o s
(C) Fam23ft4 - - R o

(E) orgaia ueT




Giiven below are two statements ; One is labelled as ;
8 Assertion A : The decline of the Maurya Empire -,.a;:,:::;:" A anq the oth labelled as Reason R:
Reason R $ Ashoka followed the policy of T)hamma_"r ‘ thek,y eris la <
In the light of the above statements, choose the most appro 1y and 4, banded his army
(A) Both A and R are correct and R is the correct explam?:m'_’” Vwer ?rr:m the :)ptiO.l'IS given
(B) Both A and R are correct and R is NOT correct e’(phn;\’: A
(C)  Aiscorrect but Riis not correct. o
(D) A isnot correct but R is correct.
(E)  Question not attempted
MasEfmmE m R mEANT T B I
AP A S ST W T et b Am e A, % Pk
FOTR ;A A wfaes & Ay B s fem o .
S et % ot o A B Pt 3 A T o, 7 A
(A) A ST R a1 ¥ 3t R, A %1 a0 e 1) Badk
(B) A 3 R &7 ¥ 3T R, A 2t wét =avean =i ¥
,(C) ATAEARFT R IET %)

(D) A & & afsT Ra &)
(E) rafa usA

82  Which one of the following throws light on the Lakulisha Pashupat Secr
I.  Coin of Huvishka 2. Mathura inscrceic
3. Maltimadhav of Bhavabhuti £ Al
5. Kadambani of Vanbhatta A
Choose the correct answer from the options given below :
(A) 1,3.4 (B) 2.3.4 (C) 123

below :

>f Chandragupta 11

(E)  Question not attempted i D) L2.45
ﬁwﬁf?g;%aﬁw@aﬁﬂmgﬂamwmwmy;

1. el 2. T T oo

3. wavfa & Fdraa 4. Eﬁw"ﬁ" |

5. ATTNE B HEEA

9 w7 feedl # ¥ W IR B 99 HIAT

(A) 1,3, 4 «(B) 2,3,4 (©) 1,23 (D) 1.2.4.5

(E) S ued

83  Which of the following is/are true about the Virupaksha-Pampadevi of Vijayanagara®
1. Matridevi Pampadevi had done penance to marry Virupaksha
2 The Vijaynagara rulers claimed to rule on behalf of Pampader.
3. The patron deity of the Vijayanagara Kingdom was Virupaksha.
4. Normally, the name of Srivirupaksha was mentioned in the Kannada script in the royal orders.
5. Virupaksha was a form of Vishnu.
Choose the correct answer from the options given below : .
(A) 1,2,3 (B) 2,3,5 (C) L34 Dy 2.3.4
(E)  Question not attempted

RIoTaeTT % freqr g % a1 & Pt ¥ § eR w sE iR

L wrged T R § frars & fre aa @ dr

2 RyeaT % ST TR A ST TR ST & T 30 4

3. FaoraT T & e daa fawan o)

4 E T sl & e R A e A @ g o

5. foreue oy @1 ww w9 A

A R o freeat § 9§ Wl w1 g W ) D) 2.3.4

(A) 1,2,3 (B) 23,5 (€) L34

(E)  argafid ued bTO
1421 A 39
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C. Wﬁwwz;; T ¥ sty By
. (R g
D. # IS
TS HEeh e * Te . s ag
Choose the COrrect fﬁc‘ﬂﬁrﬁ T R
Sw, : ¢
IR S SN, a;r mﬁom:emopn;;s i
t(A) A‘II, B‘III, C-lv_ D-1 .
(©)  A-IV, B-L, Ca1. b (B)  A-IIL, B-1, CAV, DIl
(E) (D) AL, B-IV, C-IlL, D-1

Question not attempted / siwiE wew

Match List - I with List - IL

: List - I (Characteristic) List - II (Foreign Traveler)
A. Description of Indian Trade and Society I Manucci
B.  Visited India six times . IL Dernier, OIS
. Came to India and never wentbnek 1Il. Barbosa
to Europe : '
D.  Scientist of Mughal Emir
Danishmand Khan o
e - 1 e - 11 35 e P AR
-1
R e |
S s = T
E B !
Chooset!"’:m'aauﬁm'
= =&l sz cav, DAl |
(A~ 2 JI’V -1, C-1I- p-
o R I e
Questio”
(B)
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e m | si
paby, | 'Err{. L mﬁd o i is . E‘"’Q ke ™ n‘“n;‘“‘lri s ngj
‘.ﬂﬂl‘q; ‘ ™ : Ofre ‘Ong Riv h Shyip ';L«‘\au
wg%mﬁ e'qfha Enbe0w Cut
3, ® ¥y
PRl TUR R IR
3 L
By T oy Py R
) g}:ﬁ Lag ey WJT y ™y
(C) a;ma‘? lqﬁ::“ﬁ%l‘ MQ‘Q 5 i; N BTy .
Eg)) ‘%m:m% 'Esu “‘h}m?ﬁ \\*‘;!: S ﬁ%“ |
87 . %ﬁ?‘wat a;a;l"?'fat‘ mimq‘(?;%??\‘?r(q
gtwe" beloy, - iy, L
' a eme t\\(
D\l; “‘:'til © Sta‘emem
Or ny
Statey,  SNteo rit fo
e S of
The tern,l:t,[l)l Sor, b SO(‘.l:Iesansk it w
or
p‘:othogating it a’' as Xte and armg
(A)  pehtofy, Pogateq “ViBious orge, Wkecong
(B Both st . Ve st Ashok, £ - Oung 31“' onte
) Both garomens § 5 'CMengs, o °F Budgy; W sociery e uniy
(C) S ale:\tate :n 1 re{c S€ the COrrec - e ade =l
E[E),) St temzm : l‘ret W are false "t ansuer i + P the ¥qme ang
‘-‘ﬁ%)( N estiorl:t ory Aemeny 1) ;- " 0N Biven e Starteq
‘B'-t;h N ﬁit:n‘x ®Mpteq Smeny |j o SOMreet o
| gH Orreqt
Sy ) [
*hll?%mhmm?% T et |
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(B .mml@ll % I“Eiiﬁﬁvﬁ YO e Ty
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(C) ?Stnlwsq“mtl
(D) a’nﬁfhma% gmmll‘ﬁmi‘l
(E) TR yoq B e RS
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Win

Oalfie)qg
Glrldlh coaoa]ﬁeld S of Indig from South to North direction.

Ifielq
1,2,3
lestion not attempreq

2. Jhilimili coalficld
4. Neyveli coalficld

ST e gy ﬁm""‘ﬁmﬁmaﬁgﬁtmﬁmﬁl

TREE Py
T Foret &
L2 3 ﬂamﬁmﬁf’fq:
1,2, 3

Rt gew

st I with List 1.
AST 1
mal Power plants in India)

{TPC Ramagundam Super
hermal Power Plant

1 ugdra Thermal Power Station
lejia Thermal Power Station
rombay Thermal Power Plant
[. B-IV. C-1. D-I1I

V. B-1. C-11. D-III

>stion not attempted

91 11 &/ e @i

18}

7 ¥ 99K Qa7 L)

STl TrTER gUN e qe i
7 g qEy =

YT gde 9raT 29

S gHd qrEY Wi

_B-1V. C-1, D-111

/. B-1. C-11. D-11I

a 9ed

following :
cific & Phi!ippmc’l)’llau:

i & Pacific Plate |
?g-rx;:;ralian & Pacific Plate
cific Plate & Okhotsk Plate
2-b. 3¢, 4j
2-¢c, 3-a. 4
stion not aangpwd

1 gATTd B

2 ufeafie waen &3
4. A3 o 83

LIST 11
(States)
I. Mabharashtra

1. West Bengal

M. Telangana

IV. Gujarat
(B) AL B-1V, C-l1, D-I
(D) A-L B-IIL. C-1V. D-ll

TRl
(=)
I e
1. ofyew &me
1. &&=

Iv.
(B) A-lIL B-IV, C-I, D-1
(D)  A-L B-lII, C-1V, D-lI

Tonga Trench

Mariana Trench

Aleutian Trench
Kuril-Kamachatka Trench
(B) 1-b.2-, 3-d, 4-a

(D) 1-¢,2-d. 3-a, 4-b

ancowm

a. Z.F'Héﬁ

b. Afram 74

¢ #fva g

d. wgftd-sura 24

(B) 1-b, 2, 3-d, 4-a
(D) 1<, 2, 3-a,4-b

P.T.O.
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91 esertion Al . ‘
‘e Furopeans denounced the Indian civilization and culture T . tied
::; nﬂhOdOX. i described it as backward' unc|V||IZe(
son R :
|net?|::0€8f')’ 19th century these was been interest in studying the cja.. A
umber of scholars took to Indology and one of them was ‘\434”',.:‘?"‘;*’ language and literature® of India.
"1“ the light of the above statements choose the correct answer e :_:' '
(A) Both A and R are correct and R is the correct explanation ? f": TPtems given below:
(B) Both A and R are correct and R is not the correct E?ﬂplaﬂar‘i: it
© A is correct but R is not correct. il
(D) A is not correct but R is correct.
(E) Question not attempted
,ﬁaaaﬁmf;&t g ATHTAAF BT H AT AT FTIRF 4y
afsRerA A — .
@ﬁf’f%uﬂﬁum@mﬁﬁ T AT BT I T T8 T ey ey ey 3 w5 & AT [T
1ﬁmﬁ%mﬁmaﬁmﬁﬁvm@m&mm T 57 4 w3y rog g i 2 AT 3 WOCA
21 fora S I T AFAL AT 7 3134 BT
Wﬁﬁ%’ﬁﬂﬂ', 13 ot Prpeat & Tk 39T B A B0
(A) A R 21} aa ¥ 7d R, A 1wt = ¥
(B) A@RiﬁfﬂﬂtmﬁR.Aaﬁeﬁmwﬂh
(C) ATd % fpg R 7T B
(D) ATaa ¥ g RES ¥
(E) gaia 9ed
92 i;ver;t l?elox are two statements: one is labelled as Assertion A 1d the sther is labelled as Reason R.
sertion A :
Indian National Congress was started by A.O Hume under the sffical direction, gudance and advice of
Lord Dufferin, the viceroy.
Reason R :
The Indian National Congress was 10 provide a mild, safe, peaceful md consttutonal sutlet or safety value
for rising discontent among the masses.
In the light of the above statements, choose the correct answer from the options given below:
(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true but R is NOT the correct explanation of A
(C) A iscorrect but R is not correct.
(D) A is not correct but R is correct.
(E) Question not attempted —
A e A E qmeﬁﬁmmA%mﬁaﬁtmmRiﬂﬁi
HAiFUT A -
T it SHRe 2 qe T At ¥, qreea Pl § S G ¥ & 70 WA T HOE
oI &S |
FUR : _ s
Wl T i ST ¥ 38 e & g B e, AT v e e 1 G
TS & A
VWG@%W&T&.%MW%H@W&WW‘
(A) Aud Ra\a‘fmtqdR,Aaﬁaﬁmh
#(B) Avd R < e ¥ T R, A 3w e T
(©)  Awget g R e ¥
(D) A e ¥ foneg R e ¥
(E)  srpafta wed
l_‘ P.T-O.
21__A 43

iven pelow are two statements: one is labelled as Assertion A 5, he R
the othe Reason &
r 15 labelled as



jiven below

\ are

tatement J - two Statemems ) '

he Ule ’ ' '

ma were M .

eqiii usli

equire m t} : :

neolvec(li tt(l)1 show respect, altelologlans who provided and interpreted passages from Quran. The Sultan was

statem © granting of end €ast ostensibly, for Islamic institutions and prc-cmincmly tt.w the ulemas. This
entIl: Orsement 1o miigimlS causes and offices to the ulemas, building of mosque ete,
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n the light of the Voice in political matters.
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Given below are two statements:

Statement I : .

Rowlatt Act came into being during the Non-Cooperation movement. This was desi
against the Indians participating in the movements. ey

Statement IT : hS
The Rowlatt bill allowed the judgct o 2 political cases without jurigs and gave to provincial governments,
in addition to centre, the power of interment without trial. It was p‘o‘p%llarly described as "Na appeal, Na
dalil, Na Vakil." 3 |

In the light of the above statements, choose the correct answer from thg options given below:
(A) Both statements 1 and 11 are cor‘rect.

(B) Both statements | and 1l ar¢ false. -

©) Statement 1 is correct but Statemen; I1 is false.

(D) Statement | is false but Statement I is true. -

(E) Question not attempted
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Given below are two gtatemen .
,’IV‘ ent | . Aurangzeb had constructed the Kuwait-ul-|sjy,
- Temple. ; . ‘qlleby demolishing the Chintaman
: Qutbuddin Aibak got the Kuwait-ul-Islam Mosque i |
ts. choose the correct answer f; & l‘n Delhi.
“Plions given below :

Statement I1 ,
In the light of the above statermen

(A) Both Statements I and [V are true.

(B) Both Statements I and ““are false. '
(C) Statement I is true but Statement II is false.

(D) Statement I is false but Statement II is true.
(E)  Question not attempteq
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96  Given below are two statements.:
Statement I : The temples of Virupaksha and Pampadevi were built by choosing a beautiful place like
Vijaynagara. '
~ Statement I  : The Vijayanagara rulers adopted the earlier traditions, innovated them and developed
them further.
Inthe light of the above statements, choose the correct answer from the opuions given below :
(A) Both Statements I and Ikare true.
(B)  Both Statements I and ILare false.
(C) Statement I is true but'Statement I1 is false.
(D) Statement I is false but Statement 11 is true.
(E)  Question not attempted _> !
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In the lighy of the ;gg::' used 1o bring out a magazine named ‘Pratap’ from Rajasthan in 1915,
* gg)) goth Statementy ]Sat:d ™Ments, choose the most appropriate answer from the options given bejoy, .
(C) S:;h Statements § anq 1 iy Hebn
ateme correct.
(D) Stateme:: : :s 'C‘:cf:ect and but Statement I is incorrect
(E)  Question not aﬁtmm but Statement I s correct.
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98  Given below are two statements :
Statement 1 5
In spite of opposition from Jinnah in 193 7-39, the Congress did not stop singing “Vande Mataram® in the
Legislative Councils.
Statement I1 _ |
Sir Syed Abmed Khan had said that *First he fought for Congress, now he will fight against the unity of
India.’ X . . |
In the light of the above statements, choose the most appropriate answer from the options given below :
+ (A) Both Statements I and 1l are correct.
(B) Both Statements I and IT are incorrect. _
(C) Statement I is correct but Statement I is incorrect.

(D) Statement I is incorrect but Statement Il is correct.
(E) Question not mmpwd
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orrect sequence of the given geographic feature from

29 \:l\hat ':(::fh(isa"d“’ic" Trench - Puerto Rico Trench - Japan Tronck -K::: :«mh?
i,,; couth-Sandwich Trench - Jarfﬂ:dt ‘":*:r PTOKR@ Trench . i uri T:;"::
(C) Puerto Rico Trench - South Sa fc rem:h - "’f”rench * Japan Trench
(D) South <andwich Trench - Puerto Rico Trench - Kuril Trengy, | i

(E) Question not attempted
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Given below are two statements:

Statement I : _ ) .
The Arthrashastra is 8 treatise on government and economics ascribed 1o Kautilya. the chief advisor of

Chandragupta Maurya.

Statement I :

By the third century B.C. the economy of North India was predominantly ion. Land ssvenne had become
the accepted source of income for the government. Kautilya refers at length 1o methods of tax collection and
related problems. Modifications in land tax appeared to be the direct concern of the king.

In the light of the above statements choose the correct answer ffom fhe options given below:

(A) Both statements [ and I are true.

(B) Both statements I and Il are false.

(C) Statement I is correct but Statement 11 is false.

(D) Statement I is false but Statement Il is correct.

(E) Question not attempted
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